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#include <stdio.h>

int main()

{
printf("C is a language.");
return O;

}
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C is a language.

#include <stdio.h>

int main()

{
printf("C is a language "); -
printf("and it is my favourite.");
return O;

}
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C is a language and it is my favourite.

#include <stdio.h>
int main()

{ _
printf("C is a language\n ");
printf("and it is my favourite.");
return O;

}
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#include <stdio.h>
int main()
{
int x = 10;
float y = 15.5;
char ch = 'a’; .
printf("\n x=9%d, y=%f, ch=%c", x,.§).ch);
printf("\n_address of x is : %p", &x};
return O;

}
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printf("\nx=%%%d\ty =%%%d", X, y);
return 0;

}
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X=%15 y= %20

#include <stdio.h>

int main()

{
double d;
d = 2e+007;
printf("\nThe value of d is : %e", d);
printf("\nThe value of d is : %E", d);
printf("\nThe value of d is : %g", d);

return O;
}

u’.'JJ’.'

The value of d is : 2.000000e + 07

The value of d is : 2.000000E + 07

The value of d Is : 2e + 07
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. #include <stdio.h>
int main()
{
int count;
printf("This is a %n test statement", &count);
printf(\n count = %d", count);
return O;

}
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This is a test statement

count = 10
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#include <stdio.h>
int main()
{
printf("\n\"each\"\t\"'word\"\t\"is\"\n");
printf("\n\"tabed\"\t\"over\"\t\"once\");
return O;
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gotoxy(int x , int y) ;
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#include <conio.h>
#include <stdio.h>
int main()
{
intm, x =5,y = 10;
clrser();
m=x+y;
gotoxy(20, 10);
printf("x=%d, y=%d, sum=%d", x, y, m);
getch();
return O;

}
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XxX=5,y=10,sum = 15

long sshort g4 slacl oy
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#include <conio.h>
#include <stdio.h>
int main()
{
short int x = 15;
long int m = 35789;
clrser();
printf(\n x=%hd, m=%lId", x, m);
getch();
return 0O;
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Xx =15, m = 35789
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#include <conio.h>
#include <stdio.h>
int main()
{
int x = 125, y = 1468,
float m = 327.348, n = 4351.32;
clrscr();
printf(" x=%5d, y=%3d, sum=%d", X, y);
printf("\n m=2%7.2f, n=%6.2f", m, n);
getch();
return O;
}
I

x =00 125,y = 1467

= [I3[2[7].[3[s] , n =[a[3[5]1].]3]2]
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#include <conio.h>
#include <stdio.h>
int main()
{
int x = 1234,
clrscr();
printf("x=%4.6d, x=%8.4d", x, x);
printf("\n%5.10s" '"this is a sample output.");
getch();
return O;
} ‘
T
x=001234 ,x = 1234
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#include <stdio.h>
#include <conio.h>
int main()
{
int x, y, area, p;
clrser();
printf(" Enter length and width:");
scanf("%d%d",(3x, &y);

area = x *vy;
=x+y)*2
printf(" Area = %d, p = %d", area, p);
getch();
return O;
}
I
Enter length and width: 12 10
Area = 120, p = 44 -
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#include <conio.h>
#include <stdio.h>
int main()

{
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int x, y, n;

float ave;

clrscr();

printf("\nEnter three integers:");
scanf("%d%d%d", &x, &y, &n);
ave = (float)(x +y + n) / 3;
printf(\nave=%6.2f", ave);

getch();
return O;
}
SIS
Enter three integers : 10 15 19
ave = 14.67
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#include <conio.h>
#include <stdio.h>
int main()
{
intr;
float area, p;
clrscr();
printf("Enter the radius:");
scanf("%d",&r);
area =314 *r*r,
p=2*314*r;
printf("Area = %6.2f, p = %6.2f", area, p);
getch();
return O;

u-’.JJ';
Enter the radius:10

Area = 314.00, p = 62.80




Y 29r% - 699)99C wslip s le

Y-15 Ji. @D
‘.;Jsd;,;‘og.sd,,a;,)-t.auu;,,.%L@TQL:,;N<..u|,>-6;,,,,-|by,x@,..,,;c..,usd|uuﬂ
LS o Py g 93 )
; ) ol
)iJ_slgljug,;‘.;_,s@’bﬁ;,,;gl (SaS jeaze jleslinal g oate 93 Sl gt 835 L5 58 (5
WLy = 15 5x = 12 51l Ol s S e D) o Lol 4G 5 Jo L et s o
)lj_sy).sb‘;ld.;l;- (YV—\O)(...SL,_“.Sby)Lu_;xw S JAX g VL Ll SX + y
S ot 4Ll (\o)r.:.ﬁak;.‘)“).’x‘))‘)d‘ Jeol> 5 (YV‘”)V‘:‘SJVSXJ”)YJ‘:“'(W)rz‘“u‘
€ Cml i y3 0l gar
#include <conio.h>
#include <stdio.h>
int main()
{
int x, y;
clrscr();
printf("\n Enter two integers:");
scanf("%d%d", &x, &y);
printf("\n before change:x=%d, y=%d", x, y);

X+=y,
y=x-y,
X -=Y;
printf("\n after change:x=%d, y=%d", x, y);
getch();
return O,
}
ua-.u"
Enter two integers : 12 15
before change : x = 12,y = 15
after change : x = 15,y = 12
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yice = getch() ;
yize = getche() ;
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getch() ;

getche()
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#include <conio.h>
#include <stdio.h>
int main()
{
char ch;
clrscr();
printf("\n Enter a char:");
ch = getche();
printf("\n ch=%c¢, ch=%d", ch, ch);
getch();
return 0;

I
Enter a character : s

ch=s,ch=115

getchar() aGL yisLIYISlgs
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i = getchar() ;
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putchar() sputch() algs L )L ¢piskgs
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RN PV I PW P T S I J3stdio.h Jils)a putchar() C’U’
putch (y.is) ;
putch ( os,9°) ;
putchar (yise) ;
putchar (sl ”) ;
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putch (‘a’) ;
putchar (‘a’) ;
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#include <conio.h>
#include <stdio.h>
int main()
{
char ch;
clrser();
printf("\n Enter a character:");
ch = getchar();
printf(" You typed the character:");
putch(ch);
getch();
return 0O;

ST
Enter a character : x

You typed the character : x
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#include <conio.h>
#include <stdio.h>
int main()

{
const int farconst = 32;
float farendeg, centdeg;
clrscr();
printf("Enter farenheite:");
scanf("%f", &farendeg);— ‘
centdeg =((float)5 / 9) * (farendeg - farconst);
printf("Celsius = %5.2f", centdeg);

getch();
return Q;
}
ST
Enter farenheite : 70
Celsius = 21.11
Uiy o3
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#include <stdio.h>
main(y ;-
{ .

printf ("keep looking!") ;

printf ("youV'll find it") ;

return O ;
} .
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The answer to the question of
Life, the Universe, and Everything is 42.

1 djmtz.o‘))l)u) so.\J‘P‘s‘)’)’)HX lAAAASM,..:‘SIAAbJ) b
y= X2 +x+3
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number = (1/3) * 3 ;

printf(*(1/3) * 3 is equal to %5.2f", number);
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#include <conio.h> Saa Pl

#include <stdio.h> 390 > Oy | DAYS

int main() { Je e popm| Y
int days, y, m, w; ole i 3 tyas 00ilaBl | M
clrscr(); A28 Com yp (o s0ilaBl | W

prinff("\n Enter your age in days:");
scanf("%d", &days);

y = days / 360;

days %= 360;

m = days / 30;

days %= 30;

w = days / 7;

days %= 7;

printf("\nyour age is:%d years, %d month, %d weeks, %d days."y,m,w,days);
getch();

return O;

}

Enter your age in days : 3432
your age is : 9 years, 6 month, 1 weeks, 5 days.
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for (i=0;i<56;i++)
printf("%3d\n", i) ;
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#include <stdio.h> XYY ol
#include <conio.h> adle- ouijlet |
int main() olaet ggeme | SUM
{ | oSike| ave
int i, sum=0, num ; 395 g0 03ilg3 aS goue | NUM
float ave ; ol slsel dloss 45D Joboas G| N
const int n = 5;
clrscr();

for(i = 0;i<n;i++) {
printf(*enter number %d :"i+1) ;
scanf("%d",&num) ;
sum += num ;
}
ave = (fioat) sum/n;
printf("\n the average is :%6.2f ",ave) ;
getch();
return O,

971‘;’..’15
enter number 1 : 12

enter number 2 : 13
enter number 3 : 15
enter number 4 : 16
enter number 5 : 13
the average is : 13.80
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#include <stdio.h>
#include <conio.h>

int main()
{
float i ;
clrscr();

for(i = 0.5; i <= 3.5;i += 0.5)
printf("%5.2f ", i) ;

getch();
return O;
}
I
0.50 1.00 150 2.00 250 3.00 3.50
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#include <stdio.h>
#include <conio.h>
int main()
{
char ch;
clrscr();
for(ch = 'a’; ch <= 'f; ch ++)
printf("ch = %c, code = %d\n", ch, ch);

getch(};
return O;
}
STI

ch = a, code = 97
ch = b, code = 98
ch = ¢, code = 99
ch = d, code = 100

ch = e, code = 101
ch = {, code = 102
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#include <stdio.h>
#include <conio.h>
int main()
{
char ch;
int count;
clrscr();
printf("Enter a statement with . in end:\n");
for(count = 0; (ch = getche())!="." ; count++) ;
printf(\n length of statement is:%d",count) ;
getch();
return O;

eI
Enter a statement with . in end :

I like C very much,
Length of statment Is : 18
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~for (i=0;i<5 i++) {

for (=0;j<86; j++){
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for (i=0;i<5;i++)
for (=0;j <=6;j++) {
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#include <stdio.h>
#include <conio.h>

int main()

{
intij;
clrscr();

for(i=1; i<=10; i++) {
for(j=1; j<=10; j++)
printf("%3d ",i*)) ;

printf("\n") ;
}
getch();
h return 0;
}
STIS

1 2 3 4 5 6 7 8 9 10
2 4 6 8 10 12 14 16 18 20
3 6 9 12 15 18 21 24 27 30
4 8 12 16 20 24 28 32 36 40
5 10 15 20 25 30 35 40 45 50
6 12 18 24 30 36 42 48 54 60
7 14 21 28 35 42 49 56 63 70
8 16 24 32 40 48 56 64 72 80
9 18 27 36 45 54 63 72 81 90
10 20 30 40 50 60 70 80 90 100
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ol =1
N=1x2x3x4x..x(n1) xn;
ol p sl pice
#include <stdio.h> Saa el
#include <conio.h> S5 adl> susjles |
int main() oud oailgs sue | NUM
{ sae 956 | fact
long int fact ;
int i, num ;
clrser();
for(;;) {

printf("\nType a number :*) ;
scanf("%d",&num) ;

fact = 1 ;
for(i = 1; i<= num; i++)
fact *=i;
printf("Factorial is :%Id", fact);
}
}

“lbp oy &5l aladi gl
Type a number : 5

Factorial is : 120
Type a number : 6
Factorial is : 720
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#include <stdio.h>
#include <conio.h>
int main()
{
int i2, i5, i10, i20, i50, count = O;
unsigned long int sum;
clrscr();
for(i2 = Q; i2 <= 50; i2 ++)
for(i5 = 0; i5 <= 20; i5 ++)
for(i10 = 0; i10 <= 10; i10 ++)
for(i20 = 0; i20 <= 5; i20 ++)
for(i50 = 0; i50 <= 2; i50 ++){
sum=i2*2 + i5*5 + i10 *10 +i20*20 + i50*50;
if(sum==100){
printf("\n 2Rials=%d, 5Rials=%d, 10Rials=%d", i2, i5, i10);
printf(",20Rials=%d, 50Rials=%d", i20, i50);
count ++;
Y/ end of if
else
sum = 0;
}Y//end of for
printf("\n number of correct times:%d", count);
getch();
return O;

}
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for i=0m+=1ii<10;i++, m++){

}
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#include <stdio.h>
#include <conio.h>
#define NUM 6
int main()
{
int count:
float sum, x;
clrscr();
for(sum = 0, x = 1.0, count = 1; count <= NUM; count ++, x *= 2)
{
sum +=1/x;
printf("sum = %7.4f, when count = %d\n", sum, count);

getch();
return O;

}

n eI
sum=1.0000 when countig%
sum=1.5000 when count

8um=1.7500 when count=3

sum=1.8750 when count=4

sum=1.9375 when count=5

sum=1.9688 when count=6
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#include <stdio.h>
#include <conio.h>

int main()

{
int count=0 ;
clrscr();

printf(*type a statement and ENTER to end:");
while(getche() !'="\r") _

count ++ ;
printf("\n length of statement is:%d",count) ;
getch();
return O;
}
TI
type a statment and ENTER to end : | learn C language.
length of statment is : 19
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#include <stdio.h>
#include <conio.h>

int main()
{
intx, sum =0, n = 0;
char ans = 'y’;
clrscr();
while(ans == "y'){
printf("\nEnter a number:");
scanf("%d",&x);
sum += x*x: A
n ++; .

printf("\n Do you want to continue?(y/n):");
ans = getche();
}/end of while
printf("\nYou entered %d numbers.",n);
printf("\nSum of square is:%d",sum);
getch();
return O;

by s Sles
Enter a number : 5
Do you want to continue ? (y/n) : y
Enter a number : 15
Do you want to continue ? (y/n) : n
You entered 2 numbers.
Sum of square is : 250
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#include <stdio.h>
#include <conio.h>

int main()

{
int num, digit = 0 ;
clrser();
while(1){

printf("\nENTER a number:");
scanf("%d",&numy};
printf("\ninverse=");
do{
digit = num % 10;
printf(“%d",digit);
num /= 10;

} while(num !=0);
}//end of while(1)
getch();
return O;

Enter a number : 1345
Inverse = 5431
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#include <stdio.h>
#include <conio.h>
int main()
{
int charcount = 0, wordcount = 0;
char ch;
clrscr();
printi("\n Enter a statement(ENTER):");
while((ch = getche()) != "\r){
charcount +-+;
iflch == "")
wordcount ++;
}//end of while
printf("\ncharcount=%d, wordcount=%d", charcount, wordcount+1);

getch();
return O;
}
SIS
Enter a statment (ENTER) : This book is my favourite.
Character count = 26, wordcount = 5
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#include <stdio.h>
#include <conio.h>
int main()

{

int i;




clrscr();
for(i = 41; i<= 120; i++){
printf("%4d=%c\t", i, i)

if(i%5_~=’=/g),/

" printf("\n");

Mlend of for

getch();

return O;

}

TS
41 = 42 = * 43 = + 44 =’ 45 = -
46 = . 47 =/ 48 = 0 49 = 1 50 = 2
51 =3 52 =4 §3=5 54 =6 55 =7
56 =8 5§57 =9 58 = : 59 = ; 60 = <
61 = = 62 = > 63 =72 64 = @ 65 =A
66 = B 67=C 68 =D 69 = E 70 =
MM=G 72 = H 73 = | 74 =J 75 =K
76 = L 77 =M 78 = N 79=0 80 =P
81 =Q 82 =R 83 =S8 84 =T 8 =0U
86 =V 87 =W 88 = X 89 =Y 90 = Z
91 =[ 92 =\ 93 =] 94 = ~ 95 = _
96 = ° 97 = a 98 =b 99 =¢ 100 =d
101 = ¢ 102 = § 103 =g 104 = h 105 = i
106 = j 107 = k 108 = | 109 =m 110 = n
MMl =o0 112 =p 113 =gq M4 =r 115 =3s
116 = 117 =u 118 =v 119 =w 120 = x
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#include <stdio.h>
#include <conio.h>
int main()
{

int charcnt = 0, digitent = 0;

char ch;

clrscr();

printf("\n Enter a statement(ENTER):");

while({ch = getche()) = "\r'){

charent ++;
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ifch >= 48 && ¢h <=57)
digitcnt ++;

}/end of while

printf("\ncharcount=%d, digitcount=%d", charcnt, digitcnt);

getch();
return O;
}
I
Enter a statement (ENTER) : | write 21 books.
character = 17, digitcount = 2
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#include <stdio.h> Son H
#include <stdlib.h> OIS, n o3 FgamelSaS g3ac | MAGIC
#include <conio.h> W g0 i )5S go0s | gUESS
int main() S5 adl> S gl (5,040 | @ANS
{

int magic, guess;
char ans = 'y’
magic = rand();
do {
clrscr();
printf("\n Guess the the magic number.");
scanf("%d", &guess);
if(Quess == magic) {
printf("\n***** right *****n);
printf("\n %d is the magic number.", magic);
getch();
ans = 'n’; //exit from while
} // end of if
else {
printf("\n***** wrong ******u);
if(guess > magic)
printf("\n your guess is too high.");
else




printf("\n your guess is too low.");
printf("\n Do you want to continue?(y/n):");
ans = getche();
}/ end of else
} while(ans == y);
return 0;

}

SIS
.J.ZLng.idiqQ;.-_,J&J:_,J.L:!_,Sdﬁéé.ucd‘&&&l}jwls)é

Guess the magic number : 346
Kdededkd right *edded Rk

346 is the magic number.
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#include <stdio.h>
#include <conio.h>
int main()
{
float grade;
clrser();
while(1)}{
printf("\n Enter a grade:");
scanf("%f",&grade);
if (grade >= 17 && grade <= 20)
printf("\n grade=%>5.2f, score=%c", grade, 'A’);
else
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if (grade >= 15 && grade < 17)

printf("\n grade=%5.2f, score=%c", grade, 'B’);
else
if (grade >= 12 && grade < 15)

printf("\n grade=%5.2f, score=%c", grade, 'C’);
else
if (grade < 12)

printf("\n grade=%5.2f, score=%c", grade, 'D’);

}/end of while

}
SIS
Enter a grade : 12
grade = 12.00 , score = C
Enter a grade : 18
grade = 18.00 , score = A
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#include <stdio.h>
#include <conio.h>
int main()
{
float grade;
clrscr();
while(1){
printf("\n Enter a grade:");
scanf("%f",&grade);
if (grade >= 17 && grade <= 20)-
printf("\n grade=%5.2f, score=%c", grade, 'A’);
else if (grade >= 15 && grade < 17)
printf("\n grade=%5.2f, score=%c", grade, 'B’);
else if (grade >= 12 && grade < 15)
printf("\n grade=%5.2f, score=%c", grade, 'C’);
else if (grade < 12)
printf("\n grade=2%5.2f, score=%c", grade, 'D’);
Yiend of while
}

I
Enter a grade : 16

grade = 16.00 , score = B
Enter a grade : 14
grade = 14.00 , score = C
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#include <stdio.h>
#include <conio.h>
int main()
{
int num, count = 0, n = O;
cirscr();
while(1){
printf("Enter a number:");
scanf("%d", &num);
if(num == Q)
break;
n ++;
if(num % 2 == Q)
count ++;
}
printf("\n events=%d, odds=%d", count, n - count);
getch();
return O;
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I
Enter a number : 12
Enter a number : 16
Enter a number : 18
Enter a number : 15
Enter a number : 0
events = 3, odds = 1
continue jgiuns
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#include <stdio.h>
#include <conio.h>
int main()
{
int done = 1;
char ch;
clrscr();
while(done){
printf("\n Enter a character:");
ch = getche();
if(ch == "&){
done = 0;
continue;
}/ end of if
printf("\n you typed char %c, next char is:%c", ch, ch + 1);
}// end of while
getch();
return O;

}
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SIS
Enter a character : r
you typed char r, next charis : s
. Enter a character : &
goto ygimd
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#include <stdio.h>
#include <conio.h>
int main()
{
intx = 1;
clrser();
loop1:
X ++;
if(x < 100)
goto loop1;
printf("\nThe maximum value of x is:%d", x);
getch();
return 0;

I
The maximum value of x is : 100

THLEt Sl sSeeanas 5l bl Ot 3l C OL5 )3 agn 5 Il slajlbs 51 S switch bl
R S (300,853 2 )y i i
wl«S.Ll)l:er'.u.Lgf_;‘z.:,.‘,gﬁdb}‘dbol);;q.aﬁa;u:.dswitch Ml Slod gl asslas o
H:,..Slé:.\a:_,-d%ﬁgﬁ@‘x%jsuﬂwblﬂ.A.,Al)ﬁd_,aﬂ.li&b\o‘,‘\‘V‘\ «olde jaca
L ol X S10<Y Oy s2s 48 gazme> @2V xS <V g2ws 4o pomea> S L xSl
J'I(L&,,.TAL!XJSI_,J.;JJlﬂ|<\‘Qb_,:..«;u‘,w> e V0L plx S5 <Y Ol 28 48 gama> @pd




ppadad V1

L;JL«:A.}L__; switch )L’.‘?L..v )‘ aslaul l_- r_).g,u &J‘-’-‘ .L)...: ‘J"‘ <0 Qb‘,:..a: 48 garen> cé_,...; J.JlJ.I J.plj.- d’i‘

D35t S S 4 skl ol dal

switch (o) {
case <V lade> o
<Y olygrws>
break ;
case <Y ,laie> :
<Y Olyaime>
break ;

default:

<N Olygiws >

}
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#include <stdio.h> XY b
#include <iostream.h> Jot wisles [ NUM1
#include <conio.h> s Weles [ NUM2
int main() Slae [Op
{ S5 il 8 ol S it | flag

int num1, num2, flag = 1:

char op;

while(flag) {

clrscr(};

printf("Enter num1, num2:");
scanf("%d%d", &num1, &num2);
printf("Enter operator:");
op = getche();
switch{op){
case '+’ :
printf("\n sum=%d", num1 + numz2)
break;
case '-' :
printf("\n minus=%4d", num1 - numz2);
break;
case '/’ .
case '\\' :
printf("\n division=%6.2f", (float)num1 / num2);
break;
case '*’ ;
printf("\n multiply=%d", num1 * numz2)j;
break;
default:
printf("\n operator is illegal.");
printf("\n press a key to end.");
flag = 0;
}/end of switch
getch();
}/end of while
return 0;

}




Enter num1, num2 : 44 20
Enter operator : \

division = 2.20

Enter num1, num2 : 34 2
Enter operator : *
multiply = 68

Enter num1, num2 : 36 2
Enter operator : p
operator is illegall.

press a key to end.
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int i=1; '
while (i <= 10) {

if(i<58&il=2)
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#include <stdio.h> RV pl
#include <conio.h> NS5 adl> glwods,let [1)]
int main() szeztils o )le | SINO
{ gl o Sl jei pazr | 81
int i, j, stno, 2, n, m, un, ¢1 =0, c2 = 0; gl o slaaxly ae |52
float s1, ave, grade; g2l yo Juse | AVE
cirscr(); e lgzetsls sl | €1
printf("\nEnter number of student.”); by pies ylgztils slass | €2
scanf("%d",&n); olgmadls oloss | N
for(i = 0; i < n; i++){ grddls yo yuyo olass | M
printf("\n Enter stno and # of course:"); o s 0,03 | QradE
scanf("%d%d", &stno, &m); ooy e asly [Un
s1 =0;
s2 = 0;

for( = 0; j < m; j++){
printf("\n Enter grade and unit # %d ", j + 1);
scanf("%f%d", &grade, &un);
s1 += grade * un;




§2 += un;
}/end of for j
ave = s1/s2;
iffave >= 17){
printf(*stno=9%d, ave=%5.2f, <exelent>", stno, ave);
cl ++;
}
else if (ave < 12){
printf(‘stno=%d, ave=%5.2f, <probation>", stno, ave);
c2 ++;
}
printf("\n press a key to continue...");
getch();
}/end of for i
printf("\n exelent=%d, probation=%d"c1, c2);
getch();
return 0;

}

Enter number of student : 1

Enter stno and # of course : 125 2
Enter grade and unit # 1: 17 3
Enter grade and unit # 2 : 18 4

stno = 125, ave = 17.57 , <exelent>
press a key to continue ...

exelent = 1, probation = 0






AL Sl W5y il

J‘,.;Y‘,.b ‘5LGMUJ_:).> .-L.HGQJ_'! maln() rl_»t.'»ul\‘ﬂ CUL_{._'_JAL:: Je.b WLlod 42.:_,; QJJSU Gdl.hhbj
6|dl§|¢q-ubﬂ"uih;‘¢m5,n6|ﬂg;dlﬁ‘Mﬁjl‘}i;.ﬁjdila;ﬂuiiqcﬁ.ug‘yuéum
6‘;,345&;-&‘6'4.4“){‘@U(CE'JJJ.J)‘J(UHU())‘::L;I& VR ‘_J'I;Sijn‘glﬂd‘slotﬂ.arw};

s
e a e

R
Rt T BITE VR EPP T R L .Uﬁfwjl_,iosli:...l:)_,.- LAuUJ._.;__.LHJ:«S‘Gb:)'l Gl T
MU S 5 s halons (61 3 5 S COS() I8N0 ml 35 Jro .5 43 0 SHIC LLalS ol jan o,
S enl po0n S d[‘_ﬂﬁ:{@'ﬁ b s o) XS a8 Lh ohleamis selrser() il 4y, 0
LT 3 oabizal 4 5L Sl a0bS Ll s ) Llotys S Lyl ol slehaas 3 0n i slalauts
‘ r:.'.sdld‘,s_,a.]D_,.!JAJ.AJM‘JUIJALSCJJu)_ﬁ)KM‘SJMG&ijL@i‘.ul.r
sM@‘)).MJJ‘)aéulaléJ‘,AMUﬂJé_,JﬁjL!bua.ﬂj.U‘_,JQ.GQJJJ.J:HM:-.,!&_,JMUJ

AL A lw (g lwasls 29 &lgs
Slr w5 b Jleel b Er ool g slaibesla Sl 5 0l g el teslizad by
w2 el o Sl za ol oles Jas gless, orl o sd e plovit Ll odins JS25 a8 iz
Sl o) le ail sl
J.b‘,-b‘,.:adr:..ﬁ6}&-;6%&ow‘suubjﬂﬁ)c@u‘dl«iwh&ble.DMLJ.guL:-‘,J .\
MLJ_rle.g—:.:v__vﬁl_uﬂdi;..a‘ctjéb)}rdub.}b}w‘)P)bﬁw@y&;tbﬁ&:‘q
sl
.J;,..:;,;!bul.iﬁj&l:a’udl@:a‘qJ;J|_,J@;A:.>’..-.>|J§|4SL5)_,LQ..l:Su.ar.Abjbﬂ_,ﬂCm‘;)K...k Y
).\J&‘Oﬂ.dwb "u)_’lw\*:la CJ‘D‘)K.:J MLﬂJs.C...J'J;AQL.« 4;5[._!.&;’[4 ‘SLAMLbJ;&‘))j&.:l .\"
RGN PR SO IO | n.,\.AT LRt R OT
Lj‘;‘&--\-LJ-_')lSQﬂQ‘)‘-’jlfJJm'ﬂﬂsé‘r{ﬁ-’ULJJ.)-")CUL‘)TJ:J‘):L;“M-’rL?H'QS‘ML'JJJQ
.C‘_..uidﬂqOJJL‘.AJ‘L:‘.&ﬂ)wqﬁaLSUSMUJ{JJ[)\.‘JTJ._J_,:.!uJ.ZA:&_,J@bS):USJﬂJ:E

R




Pz Jad VA

et S s s (L g e el wb s aShy Jlel bl b wsb ool gbasl b @l
Sl S 5 ensly 3 b o 85 gl Jn 5o 315 g Sy S
Sor 38 oy maIN() wb € glaasls A2 3 Al penih 16 Sl a2 9 o a0 il Jbsbo o ylie

.c,.a\c\}JAJ@.oqLAuUJ{L’Lo\;i:lBJ_,@\

2ilgs pRbyd
3 0y 15 Slma00 315 sgs 4y Gl by 4 o Al pasie b Shaat Ll U 2ty sl
.Q@Jlﬁaal.&;‘cb ﬁf‘>)‘ra‘¢f~4‘>‘e-v\'~“-‘5@“ Slers >

B Caskan Vol i O G iy s el i il 93 SUB 8 2
.{:J:,’)\QL_;:S;....\(_;JPMG\Sdl,&\}w;ﬁ&wbdbawégdobpa
5, o s Gy ST ST B GBS S ot gl S S

T Thowal ¥\ FE5C gy 6lr! g el i s main() o6 51 okl el

) g e 35 S Y 5 S el 6 £ IIC 2 m PN S S 7

A5 Uk e o (515 5 0151 b b 4y (5 lde dal oy (gl ga ¥ o3 3y K
“UM@‘C&J‘{"“L{@@@)"“}U?@U(‘Uw‘:"““:""‘t);éu"dJ"‘u‘J“bﬁ"id_‘w
b 31 Gy s oS s SN La ey 5 Al S skavoid ol g g il 5 5 O
90,5 5 ey GBI 3l (s (sl Lol a3 O e 4y 5 gn Sl OF 3 0L 3
Qs\(uJ:,\,L.g;,.._J)a..u,;,u,,(.A,-\Ltsp&l{‘,\.:b,u;“-\u:ﬁu,u\)g;\.\,a;\..u:...n.u,: Sl
(,-:_nﬂd_,-u,a)cufudk,;‘cuu;\,;\)c@sguw\.a,.:wub@x;uﬂbg;\&_f
,h@\:q,_,sc&»smuﬁuﬁ,@.ujz.bg‘s.\,,:\,,«;.:uc,h.x,yarucuou;,i‘x,.:f,aw
cu)-|@u,;boid,§3\.\ipwuﬂ)>Gud,_s)tsb,d\,f.x;d.,\;):\ﬁy\;ja,cum
5 il SN 5 g e 5 65 S xS o st a8 558 2 S e LS «, main()

13 g A ATs 3 ) g8
<abge>  alpl (bl cund);

<&l g9> & el (L ol o)

{
<\ )93-“6>
<Y jgimwd>
n),l.«h)

}

LI ECE A




Y4 aails S dlsy Qg

S a5 ol stel P JS s «S'sample() e as AL aal s 5l sha yas

:.,\:...‘.l.g-tz.ila‘,bléqbﬁjajly‘c_)aCjij)'luu:.dlﬁ

(43S 5l 55 main() & 03 Al e aS w ,a) 1S Mol main() @B 3L s ples 5,80
Aaled e h Wl 5 g

S A3 S L T ol 5 el o
e)b‘ﬁéc‘jduﬁ&:ﬁJ'&‘ﬁwa@J:S&Qﬁc'j&‘é)bbc‘j‘)b)_)yduﬁ&
g Jae ozl 3 b 5aSyl K s

S il N .J.J,:u.or.:...i?w:w-\.,J;:I:fool‘,sl‘).écvqA;;l,:unddﬂsu,.;l.kﬁjh.})’lc|j
e Ol 4 LS S Ll g 55 S5 4L o b 2ebl ol 55 4 5 el 5 (5 50 ookl o8
et 250 e 4 Ol 5 go el 0 a1 ¥-Y |2 55 451, sample() b S
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#include <stdio.h> »
void sample (int x,int vy); e R
int main()
R

int a,b;

&6 slogs)T

sample (a, b) ; el: Sl B

return 0 ;
} &Y sl
void sample (int x, int ) GL:&I oo
{

printf("\n x = %d, y = %d", x, y); Gts Sy
¥ Jsu
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void func1 (void) ; void funec1 (void)
void func2 (void) ; {
void func3 (void) ;
int  main() }
{

void func2 (void)
funci1() ; / { i
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— 1

| ____p vold func3 (vold)

/
func3() ; : {

return O ; }

} R N
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#include <stdio.h>
#include <conio.h>
void convert(void); ubs S
int main()
{ i
convert() ;;
return O;

}

//**************************

void convert(void) @U olge

{

- int hours, minutes, second,
long int time ;
clrscr();
printf("\n enter time to be convert:hour, minutes, second:") ;
scanf("%d%d%d", &hours, &minutes, &second) ;
time=(long int) (60 * hours + minutes) * 60 + second ;
printf("\n time is :%ld seconds."time) ;

geteh();
}
STIF
enter time to be convert: hour, minutes, second : 12 45 26
time Is : 45926 seconds.
F-Y Ji. 4P

s a5V e 2 555 e S 0 Sl f a4 0l g5 (63,905 SV s S 4 oS (1Al
S st I A eaS g
facad
findmax() b ul.a_,f)\ Ol gie 4 ol ol g5 (63 959 3 ot el 51 pomm 5 (X e Hle 4 aal oyl o
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o2 3,15 948 4w 5l 3de o ) 5 findmax() b s maxp e il S g 5 Ul B il sl (55l prn
ol
#include <stdio.h>
#include <conio.h>
void findmax(int, int, int); b S
int main()
{
intx,y, m
clrscr();
printf(\nEnter three integer numbers:");
scanf("%d%d%d", &x, &y, &m);
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return O;

}

//*********************

void findmax(int p1, int p2, int p3) C,l: Olge

{
int maxp;
maxp = (p1 > p2) ? p1 : p2;
maxp = (p3 > maxp) ? p3 : maxp;
printf("\maximum=2%d", maxp);
getch();

STI
Enter three integer numbers : 15 19 10

maximum = 19
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#include <stdio.h>

#include <conio.h>

void f1(int, int);

int main()

{
int x, y;
clrscr();
printf("\nEnter two integer numbers.");
scanf(*%d%d", &x, &y);
printf(" You entered :x=%d, y=%d", X, y);
f1(x, y)i
printf("\n After return from f1 :x=%d, y=%d", X, y);
getch();
return O;

}

//*********************

void f1(int x, int y)

{
printf("\n f1 recieves : x=%d, y=%d", X, y); !
X ++;
y ++;
printf("\n new values in f1 : x=%d, y=%d", X, y);
}

SIS
Enter two integer numbers : 10 15

You entered : x = 10,y = 15

f1 recieves : x = 10,y = 15

new values inft : x =11,y = 16
After return fromfl : x =10,y =15

SIS )85 0 32 b )ISde S AT Snilgs
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#include <stdio.h>
#include <conio.h>
char tocapltal(char);
int main()
{
char ch;
clrscr();
printf(\n Enter a character:");
ch = getche();
printf(\n Result is:%c", tocapital(ch));
getch();
return O;

}

//********************

char tocapital(char ch)

{
if (ch >="a’ && ch <= "2
ch -=32;
return ch;
}
TS
Enter a character : t
Resultis : T
P00 di. @D
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#include <stdio.h>
#include <conio.h>
float area(float);
int main()
t
float r, s;
clrser();
printf("\nenter the radius:");
scanf("%f", &r);
s = area(r);
printf("\narea = %5.2f", s);
getch();
return O;
}
//**********************
float area(float r)
{
float s,
s=r*r*314
return s;
}
STI
enter the radius : 10
area = 314.00
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#include <stdio.h>
#include <conio.h>
int prime(int);
int main()
{
int num;
char ans;
cirscr();
while(1) {
printf("\n Enter a number:") ;
scanf("%d", &num);
if(prime(num))
printf(\n Number %d is prime.", num);
else
printf("\n Number %d is not prime.”, num);
printf(\n Do you want to continue?(y/n):"):
ans = getche();
if(ans 1= 'y’
break;
Y/ end of while
getch();
return O;

}

//********************

Int prime(int num)

{
int i, temp = 1;
for(i = 2; (i <= num /2) && temp ; i++)
if(num % i == 0)
temp = 0;
return temp;
}

u-".'.’f""
Enter a number : 97

Number 97 is prime

Do you want to continue ? (y/n) : y
Enter a number : 7865

Number 7865 Is not prime.

Do you want to continue? (y/n) : n
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#include <stdio.h>
#include <conio.h>
int k, sg, sum ;
void input(void);
void square(void);
int main()
{
intj,i=5;
clrscr();
printf("\n Enter five number:") ;
for( = 0] <i;j++)

1. local variables 2. global variables
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input() ;
printf("\n Sum of square is:%d",sum) ;
getch();
return O;

}

void input(void)

{ .
scanf("%d", &Kk) ;
square() ;
sum += sq ;

}

void square(void)

{

sq=k*k;
}

‘;?.’J‘;
Enter five numbers : 4 7 8 4 2

Sum of square is : 149
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#include <stdio.h> -
#include <conio.h>
int x; AP s
void func1(void);
void func2(void);
int main()
{
clrscr();
x = 100;
func1();
func2();
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printf("\n In main x is:%d", x);
getch();
return O;

}

//*********t******t****

void func1(void)
{

printf("\n In func1 x is:%d\n", x);
}

/ kkhkkhkkkkkkhhbkhkhkkhdkd
void func2(void)
{

int x; Canel Jona piiax
printf(" In func2 x changes:");

forx = 1; x < 6; X ++)
printf(" x=%d ", x) ;

4_5".'JJ5
In func1 x is : 100

Infunc2 xchanges : x =1 x=2 x=3 x=4 x=5
In mainx Is : 100
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#include <stdio.h>
#include <conio.h>
unsigned long fact(int) ;
int main()
{
int m ;
clrser();
printf("\n enter a positive integer5 number:");
scanf("%d", &m);
printf("\n number=%d, fact= %ld", m, fact{m));
getch();
return 0;

}

//**********************

unsigned long fact(int x)
{
if(x 1= 0)
return(x * fact(x - 1)} ;
return 1 ;

}

STIS

enter a positive integer number : 5
number = 5, fact = 120

S Jlisn=4 glila | fact() ab o pS1: Ji, 456 4.,...\:-.06\3 b,

23 g 3X=3 sl b il =0 0 g gl il 3
unsigned long fact(4)
{
if (4! =0)
return (4 * fact(4-1)) ;
return 1 ;

2 g on X2 Sl 4y el 3I=0 0 52 0 g B

unsigned long fact(3)
{
if (3! = 0)
return (3 * fact(3-1)) ;
return 1 ;
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unsigned long fact(2)

{
if (2! = 0)
return (2 * fact(2-1)) ;
return 1 ;
}

b g Gyt ix=0 Sl b et 11=0 o_,>,:pl.q>' i

unsigned long fact(1)
{

if (11 =0)
return (1 * fact(1-1)) ;
return 1 ;

2D gh b lreturn 1) s (ol0=0 Oy oy Sl

unsigned long fact(0)

{
if (0! = Q)
return (1 * fact(0-1)) ;
return 1 ;
}
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#include <stdio.h>
#include <conio.h>
int product(int x, int y);
int main()
{

int x, y;

clrscr();

printf("\nEnter two integer numbers:");

scanf("%d%d", &x, &y);

printf("\nThier product is :%d", product(x, y));

getch();

return O;

}

//***********************

int product(int x, int y)
{
ifly == 1)
return Xx;
return(x + product(x, y - 1));
}

u-?JJ;
Enter two integer numbers : 10 9

Thier product is : 90
y =3, x = 4 '3l 4 product( GL‘»' ILS

it @==1) M
return 4 ;
return (4 + product (4, 3 - 1)) ;

it @2==1) ()
return 4 ;
return (4 + product (4, 2 - 1)) ;

(1 ==1) N\
return 4 ;
return (4 + product (4, 1 - 1)) ;
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#include <stdio.h>
#include <conio.h>
void write_v(int);
int main()
{
int x;
clrscr();
printf(*enter an integer number:");
scanf("%d",&x);
write_v(x);
getch();
return 0;

}

//*****************

vold write_v(int x)

{
if (x < 10)
printf("%d\n*, x);
else {
write_v(x / 10);
printf("%d\n*, x % 10);
}
}
T
enter an integer number : 123
1
2

3
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#include <stdio.h>
#include <conio.h>
vold test(vold);
int main()
{
register int i;
clrscr();
fori=0;i <5 i ++)
test();
getch();
return O;

}

//*****************

void test(void)
{
int x = 0; //fautomatic variable
static inty = 0;
printf("\n auto x=%d, static y=%d"x, y);
X ++;
y ++;

oI
auto x = 0, static y=0

auto x = 0, static y =
auto x = 0, static y =
auto x = 0, static y=3
auto x = 0, static y=4
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void f1(void) ; weges Suilianl sl paiie
void f1(void) ; . . .
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ti.cpp Jué

static int x,y;
int m,n;
void 1 (void)
int main()
{
}
void f2(void)
{

m=5;

n=10;

X =6,
}

t2.cpp Js U

extern int m,n;
void f2(void)

{

m=n/m;

}

void  f3(void)

{

m = 50 ;

}
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#include <stdio.h>
#include <conio.h>
float calculate(float 'balance, float rate, int mon)
{
int i;
float ben, sben = 0;
for(i = 0; i < mon; i++){
ben = balance * rate / 100;
balance += ben;
sben +=ben;
}
return sben;

}

//****************************

int main()
{
int mon;
float balance, rate, sben;
clrscr();
printf("\nEnter balance, rate, mon:");
scanf("%f%f%d",&balance,&rate,&mon);
sben = calculate(balance, rate, mon);
printf("\n benefit=%7.1f, balance=%7.1f", shen, balance);
printf("\n new balance is: %7.1f', balance + sben);
getch();
return 0;

eI
Enter balance, rate, mon : 5000 10 4

benefit = 2320.5 , balance = 5000.0
new balance is : 7320.5
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float price (float cost, int times) ;
void give_output (float wholesale, int times, float retail);

r‘w‘” ok
Wl 2520 oo s hilonn ol 00 S5 LS e & yoo price() &b 20 pd el bl al 5 5348 Glalow
if (times < =7)
return (wholesale + wholesale * 0.05) ;

else
return (wholesale + wholesale * 0.10) ;
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const float LOW = 0.05 10 ol Ayl
const float HIGH = 0.10 Yol Canad gyl
const int NUM =7 JALYY-YAROVE JO)
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#include <stdio.h>
#include <conio.h>
const float LOW = 0.05;
const float HIGH = 0.10;
const int NUM = 7;
float price(float, int);
void give_output(float, int, float);
int main()
{
float wholesale, retail;
int times;
char ans;
do{
clrscr();
printf("\n enter wholesale, self time:");
scanf("%f%d", &wholesale, &times);
retail = price(wholesale, times);
give_output(wholesale, times, retail);
printf("\n do you want to continue?(y/n):");
ans = getche();
if(ans 1= 'y’)
break;
} while(1);
getch();
return O;

}
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”****************************

float price(float wholesale, int times)
{
if(times <= NUM)
return(wholesale + wholesale * LOW);
return{wholesale + HIGH * wholesale);

}

”****************************

void give_output(float wholesale, int times, float retail)

{
printf("\n wholesale =%7.1f, times=%3d", wholesale, times);
printf("\n retail cost = %7.1f", retail);

}
ST
enter wholesale, self time : 4500 5
wholesale = 4500.0 , times = 5
retail cost = 4725.0
do you want to continue ? (y/n) : n
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#include <stdio.h> Son el
#include <conio.h> ‘ all gl eand 5100 Jobb 4y (8 [N
int main() Jows g g sy Jsb 4y slayl] | ave
{ Jane 03555 | amax
const int n = 5; PRCPHEIR N
float ave[n], amax = O; all 0 paie (9,385 0929 Joxe [P
inti, p;
clrscr();

fori = 0; i < n; i++){
printf(" enter an average:");
__scanf("%f", &aveli]);

}
amax = ave[0];
p=0;

fori = 1;i < n; i++)
if(ave[i] > amax) {
amax = aveli];
p=1i
}
printf("\n max = %5.2f, position = %d", amax, p + 1);
getch();
return O;

}
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enter an average :12

enter an average :15
enter an average :12
enter an average :17
enter an average :16
max = 17.00 , position = 4
o-Y Jio @D
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#include <stdio.h> Saa pU
#include <conio.h> Vo Jobay 6 | N
int main(} { n Jsb a slall | arr
const int n = 10; sise sloeloluws | €1
int arr[n], i, c1 =0,¢c2=0; Coleolaglslaas | €2
clrscr(); LSS ails sasylets |

printf("\n Enter %d numbers and press ENTER:\n", n);
fori = 0;i < n; i++)
scanf("%d",&arr(i]);
printf("\ negavives are:");
fori = 0;i<n;i++)
if(arr[i] < 0){
printf("%d, “,arrfi]);
ct ++;
} /lend of if
printf("\n positives are:");
fori=0;i<n;i++)
if(arr[i] > 0){
printf("%d, “,arr[il);
c2 ++;
}//end of if
printf("\n number of negative = %d", cl);
printf("\n number of positive = %d", c2);
getch();
return O;
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SIS
Enter 10 numbers and press ENTER :
12-3-644-711-75199
negatives are : -3, -6, -7, -7,
positives are : 12, 44, 11, 5, 19, 9,
number of negative = 4
number of positive = 6
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#include <stdio.h>
#include <conio.h>
int main() {
int x[5], v[5], i, |;
clrscr();
fori = 0;i < 5;i++) {
printf("Enter number %d : *, i + 1);
scanf("%d",&x[il);
}
=0
printf("Number in inverse:\n");
for(i = 4;,i>=0;i-) {
ylil = x[i};
printf(*%3d", y{i});
j++

printf("\nPress a key to continue...");
getch();
return O; }

ST
Enter number 1 : 9

Enter number 2 : 11

* Enter number 3 : 15
Enter number 4 :14
Entér number 5 :8
Number in inverse:
8 14 15 119
press a key to continue...
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//*************************

void findt(float arr[], int k)
{
int max_count = -1 ;
float max_value;
int i, j, current_count;
float current value ;
for (i=0i<ki++){
current_value = arrfi} ;
current_count = 0 ;
for( = 0;j < k; j++)
if (arrj] == current_value)
current_count++ ;
if (current_count > max_count) {
max_count = current_count ;
max_value = current_vaiue ;
Y/end of if
Y/end of for (i= 0; i < k ..)
printf("\n maximum iteration of ave");

getch();

enter 10 mead and press Enter :
165 14 18 19 145 155 17 155 18 19
maximum iteration of ave 15.50 is 3

aaliy sla pace

#include <stdio.h> ERVY JUETH
#include <conio.h> all sl Ve Jsboar b | K
void findt(float arr[], int k); S i | max_count
int main() 3ty LSS i aS Juse | max_value
{ = d8e Ja=a | current_value

const int k = 10; w99 e 1S5 olaws | current_count

float arr[k] ; dil> oniyley | 1,

int i; K Jsbalal] | arr

clrser(); -

printf("\n enter %d mead and press Enter:\n", k);

for i =0;i < k; i++)

scanf("%f", &arrl[i]) ;

findt(arr, k);

return 0O;
}

printf("* %5.2f is %d", max_value, max_count);
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#include <stdio.h>
#include <conio.h>
void ginput(int [], int);
void bubble(int ], int);
void goutput(int [], int);
int main()
{

const int k=7 ;

int temp[7];

clrser();

ginput(temp, k);

bubble (temp, k);

printf('the sorted data are :\n") ;

goutput(temp, k);

getchy();

return O;




}

/ hhkkhhkkhkkhhkhkhkhhkhkdkkkkhkhdkdk

void ginput(int temp[], int len)
{
int i;
for(i=0; i < len; i++) {
printf("enter number %d:"i+1);
scanf("%d",&templi]);
}
}

//**********************

void bubble(int temp[], int len)
{
int i, j, item;
for(=len-1;i>0;i-)
for =0;j<i;j++)
iftempl[j] > temp[j + 1]) {
item = temp]j] ;
temp[j] = temp[j + 1];
templj + 1] = item ;
}/end of if
}

/ AEKIKKTKAKRKKRKKRKRIARRIRR AKX RRX

vold goutput(int temp]], int len)
{
int i
for(i=0 ;i < len; i++)
printf(" %3d",templi]) ;

ST

enter number 1 : 25
enter number 2 : 57
enter number 3 : 48
enter number 4 : 37
enter number 5 : 12
enter number 6 : 92
enter number 7 : 86
the sorted data are:
12 25 37 48 57 86 92
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#include <«stdio.h>
#include <conio.h>
void ginput(int [], int);
int Isearch(int [], int, int);
int main()
{

const intk = 5;

int st{k], no;
clrscr();




' ‘ginput(st, k); y
printf("\nEnter a student # to search:");
scanf("%d", &no); «
if(lsearch(st, k, no} == -1)
printf(\n number %d not exist in list , no);
else
printf(\n number %d exist in fist.", no);
getch();
return O;
}
//**************************
void ginput(int st[], int len)
{
int i;
for(i = 0; i < len; i++) {
printf("enter student number %d:", i+1);
scanf("%d",&st[i]);
}/end of for
}
//**********************
int Isearch(int st[], int len, int no)
{
int i
fori = 0; i < len; i++)
if(st[i] == no)
[return 7|
\ return -1;)

T
enter student number 1 : 100

enter student number 2 : 106
enter student number 3 : 108
enter student number 4 : 200
enter student number 5 : 290
Enter a student # to search : 106
number 106 exist in list.
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#include <stdio.h>
#include <conio.h>
void ginput(int [], int);
void bubble(int [], int);
int bsearch(int [], Int, int);
int main()
{

constintk = 5;

int st[k], no;

clrscr();

ginput(st, k);

printf("\nEnter a student # to search:");

scanf("%d", &no);

bubble(at, k);

if(bsearch(st, k, no) == -1)
printf("\n number %d not exist in list *, no);
else

printf("\n number %d exist in list.", no);
getch();
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return 0;
}
//**************************
void ginput(int st[], int len)
{
int i;
fori = 0; i < len; i++) {
printf("enter student number %d:", i+1);
scanf("%d",&st[i]);
}/end of for
}/ e de de de o de e de e dede e e ek ek ok
int bsearch(int st[], int len, int no)
{
int mid, low = 0, high = len - 1;
while(low <= high){
mid = (low + high) / 2;
if(no < st[mid])
high = mid - 1;
else if(no > st[mid])
low = mid + f{;
else return mid;
}
return -1,

}

//********t*************

void bubble(int st[], Int len)
{
int i, ], item;
for=1len-1;1>0;i-)
for( = 0;f < 1;)++)
if(sti] > stfj + 1]) {
item = st[j] ;
st]] = stfj + 1];
stfj + 1] = item ;
}/end of if

}

enter student number 1 ;: 100
enter student number 2 : 180
enter student number 3 : 90
enter student number 4 : 120
enter student number 5 : 80
Enter a student # to search : 180
number 180 exist in list.
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#include <stdio.h>
#include <conio.h>
int main()
{
int table[10]{10], i, j ;
clrser();
fori = 0; i < 10; i++)
for = 0; j < 10; j++)
tablefi][j] = @ + 1)*( + 1) ;
forl = 0; i < 10; i++) {
for( = 0;j < 10; j++)
printf("%4d" table[i][j]) ;

printf("\n") ;

}

getch();

return O;

}
STIF

1 2 3 4 5 6 7 8 9 10
2 4 6 8 10 12 14 16 18 20
3 6 9 12 15 18 21 24 27 30
4 8 12 16 20 24 28 32 36 40
5 10 15 20 25 30 35 40 45 50
6 12 18 24 30 36 42 48 54 60
7 14 21 28 35 42 49 56 63 70
8 16 24 32 40 48 56 64 72 80
9 18 27 36 45 54 63 72 81 90
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void f1 (int x[5][10]);
void 2 (int x[][10], int);
int main ()

int x[5] [10] ;

f1 x) ;

f2 (x,5);

;;turn 0;

}
void f1 (int x[5] [10])

void f2 (int x[ ] [10] , int row)

IS G g T Jlu)l oY s

#include <stdio.h>
#include <conio.h>
void minput(int [1[2], int);
void mcal(int mat{][2], int);
int main()
{

constintr=3,¢c =2

int mat[r}[c];

clrscr();

minput(mat, r);

mcal(mat, 1);

getch();

return O;
}
//*********************
void minput(int mat[][2], int r)
{
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int i, j;
for(i = 0; i < r; i++4)
for( =0, <2 j++) {
printf(*enter mat[%d][%d]:", i, j);
scanf("%d", &matfi][j]);
}
}

//**********************

void mcal(int matf][2], int 1)
{
int i, j, rmax;
printf(" ROW \t{MAX");
printf("\n------eeeeeeeeeaee- s
fori =0;i<rni++){
rmax = mat{i][0];
for = 1;] < 2; j++)
if(matfi][j] > rmax)
rmax = mat{i][j];
printf("\n %d\t\t %d", i+1, rmax);
}/ end of for
}

eI
enter mat [0] [O] :

enter mat [0] [1] :
enter mat [1] [0] :
enter mat [1] [1] :
enter mat [2] [0] :
enter mat [2] [1] :

0 N U AW

ROW MAX
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X[3] 5xX[2] X[1] X[0] ;5 5 5 158 BN sliecos S ity g maie ¥ ahyle ) s2ws (Jle O s 4,
Aad el 3
int x[4] = {1, 3, 5, 9} ;
s o ad gl Slie (553 4y sharss AT s ) g
int y[2] [38] = {1,3,4,7,6,15}
int m [2] [3] = {{4,6,9), {7,3,1}};
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i int p[] = {4,6, 8};
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I int x[10] = {5,15} ;
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int m [3] [2] [4] = {{{1.23,4}, {5678}, };

{{7,932} , {4683}, };
{{7.2,6,3} , {0,1,9.4}}};
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z [0] [0] = x [0] [0] x y 0] [0] + x [0] [1] x ¥ [1] [0] = 'x¥+¥x4=¥4
z[0] [1] = x [0] [0] x y [0] [1] + X [0] [1] x y [1] [1] = =V + TxF=Yd
z[1] [0] = x [1] [0] x y [0] [0] + x [1] [1] x y [1] [0] = ¥xY+&xA =AY
z[] []=x[]1[0] xy [0] [1] + x [1] [1] x y [1] [1] = ¥xV + &x5 = A
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#include <stdio.h>
#include <conio.h>

int main()

{
int mat1[2][3], mat2[3][4], mat3[2][4]={0} ;
int i,j,k, ;
clrscr();

/fread mat1
for(i=0 ; i<2 ; i++)
for(j=0 ; j<3 ;j++) {
printf("tenter mat1[%d][%d]: ",i,j);
scanf("%d",&mat1[ilfj]) ;
}
//read mat2
for(i=0; i<3 ; i++)
for((=0; j<4 ;j++) {
printf("enter mat2[%d][%d]: ",ij);
scanf("%d",&mat2[i][j]) ;
}
//multiply mat1 by mat2
for(i=0 ; i<2 ; i++)
for(j=0 ; j<4 ;ji++) {
mat3[i][j]=0 ;
for(k=0 ;k<3 ; k++)
mat3[i][j] = mat3[i][j}+mat1[i][k]*mat2{k]{j];
}
printf("\n the produc of mat1 & mat2") ;
printf(" is :\n\n") ;
for(i=0 ;i<2 ;i++) {
for(j=0 ; j<4 ;j++)
printf("%5d", mat3[i]{j]) ;
printf("\n") ;
}
getch();
return O;




enter mat1[0][0]: 1
enter mat1 [0] [1] :
enter mat1 [0] [2] :
enter mat1 [1] [0] :
enter mat1 [1] [1] :
enter mat1 [1] [2] :
enter mat2 [0] [0] :
enter mat2 [0] [1] :
enter mat2 [0] [2] :
enter mat2 [0] [3] :
enter mat2 [1] [0] :
enter mat2 [1] [1] :
enter mat2 [1] [2] :
enter mat2 [1] [3] :
enter mat2 [2] [0] :
enter mat2 [2] [1] :
enter mat2 [2] [2] :
enter mat2 [2] [3] : 12

the product of mat1 & mat2 is :
28 24 56 86

80 80 136 208
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#include <stdio.h>
#include <conio.h>
int findmin(int [], int);
int main()
{
int list[20], num, size=0 ;
clrscr();
do{
printf("type list{%d] : ", size) ;
scanf("%d", &list[size]) ;
} while(list[size ++] != 0) ;
size -
num = findmin(list, size) ;
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printf(\n minimum is:%d *,num) ;
getch();
return O;
}
//***********************
int findmin(int arrf], int size)
{
int i, mint ;
mint = arr[0] ;
for(i = 0 ; i < size; i++)
if(arr[i] < mint)
min1 = arr[i] ;
return(mini) ;

ST
type list [0] : 10

type list [1] : 5
type list [2] : 18
type list [3] : O
minimum is : 5
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char s[10] ;

u:'lL“J'.'.JQ)_}"*—'c“:‘,)w“')‘:"))“)s“ah”LJ‘,‘JJ"‘}-‘:’L}"CJTMJ&kM‘Ju)d‘QQW;‘

13 g op 031
s[0] s[1] s[2] s[3] [4] s[5] s[6] s[7] s[8] s[9]
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char s{ ] = “computer”
char st {12] = “algorithm”

char str[] = {'p', 'r, ‘g, \O};

R 093 s5med ] 3l e Ny N0 wwsls 1,35 (glazdy ,uiia 451, “computer” ISP Ry -
str J.}‘\O’ J:S‘)lSG‘ﬂA..vb J:SI)lSw f‘,-.d)jnn.) '"\'SL}" oL«:\ OT@‘),\O’JMQ‘.’J J‘}St BLl b “algorithm"
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s:|c|o|m|p|u|t|e|r|\ol

st:|a|l|g‘o|r|i|t|h|m|\0|?|?|

str:Lp|r|g{\0|
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_char first[21];,
scanf(*%s", first);
“printf("\n first is:%s", first);

————

gets() pb b aub ) 9ailgd
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gets (glaid yuiio) ;
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char stri[21] ;
gets (str1) ;

P

Wb gaslgd yoscanf() sgets() sglas
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char s[51] ;

gets (s);
scanf ("%s", s) ;

S Bl ) fsgets() GU =S 5,11, "computer science” a2l 5 () yrws CJ-:‘*J.Z':-“L: » S
3 g8 A6 ) Sl O e O ey S sladl gl ) "computer” iz ) Lais scanf() b

Puts() &b L ab) Db
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puts (4’ ;
puts (glaxd, yuico) ;
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char name = ‘ali" ;
puts ("your name is "} ;
puts (name) ;
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#include <stdio.h>
#include <conio.h>
void upper(char [});
int main()
{
char s[21];
clrscr();
printf("enter a string:");
gets(s);
upper(s);
puts('result is:");
puts(s);
getch();
return O;

}

//***********************

void upper(char s[})
{
int i;
for(i = O; s[i]; i++)
if(s[i] >= 'a’ && s[i] <= 'Z)
sli] -= 32;
}

enter a string : computer science
result is : COMPUTER SCIENCE
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#include <stdio.h>

#include <conio.h>

void replace(char [], char, char);

int main()

{
char string[50] ;
char source_letter, target_letter ;
inti;
clrscr();
printf("\nenter the string: ") ;
gets(string) ;
printf("enter source character :") ;
source_letter = getche() ;
printf("\nenter target character :") ;
target_letter = getche() ;
replace(string, source_letter, target letter);
printf("\nthe result string is:");
puts(string) ;
getch();
return O;

}

/ khkkkhkARAKRRIAKTkkkkkkhkhs

void replace(char string[], char source_letter, char target_letter)
{ .
int i;
if(source_letter 1= target letter)
for(i = 0 ; string[i] ; i++)
if(string[i] == source_letter)
string[i] = target_letter;

}
I
enter the string : in the name of allah
enter source character : a
enter target character : A
The result string is : in the nAme of AllAh
o-1F Ji &P
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#include <stdio.h>
#include <conio.h>
int main()
{
char s1[81], s2[81], temp;
int i, j;
clrscr();
printf("enter string <s1> : ") ;
gets(s1) ;
printf("enter string <s2> : ") ;
gets(s2) ;
for(i = 0; s1[i] && s2[i]; i++) {
temp = si[i] ;
si1fi] = s2[i] ;
s2[i] = temp ;
} /lend of for
if(s1[i]) { //s1 has many char L Gl plsl Jgb
J=1;
while(s1[i])
s2[i] = si[i++];
s2[i]="\0";
s1[j]="0";
}/end of if
else if (s2[i]) { //s2 has many char Gl 2iys2 ,]e
=1,
while(s2][i])
s1[i] = s2[i++] ;
s2[j]="\0";
s1{i]="0";
} //end of else if
printf("new content of s1 is:") ;
puts(s1) ;
printf("new content of s2 is:") ;
puts(s2) ;
getch();
return O;

ST
enter string <s1> : computer

enter string <s2> : science
new content of s1 is : science
new content of size : computer
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#include <stdio.h>
#include <conio.h>
Int eventf(char s[], char ch, char n);
int main()
{
char s[21], ch;
int n, p;
clrscr();
printf("enter string:");
gets(s);
printf("enter the character:");
ch = getche();
printf("\nenter the event:");
scanf("%d", &n);
p = eventf(s, ch, n);
if(p == -1)
printf("\n %dth event not found:*, n);
else
printf("\n %dth event is in position:%d", n, p);
getch();
return O;

}

/ khkhkdkkkkhkhkkki

int eventf(char s[], char ch, char n)
{
int i, count = 0;
for(i = O; sfil]; i ++){
if(s[i] == ch)
count ++;
if(count == n)
return(i + 1);
}

return -1;
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SIS
enter string : computer science
enter the character : e
enter the event : 2
2th event Is in position : 13
8-15 Jio @D
Gl a2 53 sSnn s sb oy Ol s S cpmans (slazd y ad gl e Ol ge 001,27 50”3y o 45 Slaal
.J;S‘JA
4l o e
#include <stdio.h> ERYY pors
#include <conio.h> S9d pigSae 2L &S glazd, [T
int main() AL all> gly (Ko i | temp
{ ail> o yles |
char t[]="abcdefghijkimnopgrstuvwxyz"; aus, Jsb | length
char temp ;
int i, length;
clrser();
for(length = 0 ;t[length]; ++length) ;
length -- ;
puts(* the initial text is : ") ;
puts(t) ;
for(i = 0; i < length / 2; i++) {
temp = {[i] ;
tfi] = t[length -] ;
tllength - i] = temp ;
}
puts(" the reversed test is : ") ;
puts(t) ;
getch();
return 0;
}
oI
the Inltial text Is :
abecdeoefghijklmnopqrstuvwxyz
the reversed text is :
zyxwvutsrqponmlkjihgfedcba
a-1Y Jio &P
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#include <stdio.h>
#include <conio.h>
void separate(char expf], char oper[], int opnd[]);
int main() {
char expr[21], oper[21];
int opnd[21];
clrser();
printf("enter expression:");
gets(expr);
separate(expr, oper, opnd);
getch();
return O,

}

/ e e de e % de e % de de X vk e ek

vold separate(char expr[], char oper[], int opnd[])
{
inti,j=0,k=0;
for(i = O; expr[i]; i ++)
if(expr[i] >= '0" && expr[i] <= '9’)
opnd[j ++] = expr[i] - 48;

else
oper[k ++] = expr[i];
oper[k] = "\0";
puts(‘operators are:");
puts(oper);

puts(‘operands are.");
for(i = O0;i < jii ++4)
printf("%2d", opnd]i});

}
I
enter expression : 6 /8-9 + 4*5
operators are :
[-+*
operands are :
6 89 45
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) s Ol g e sl ras b K5 ke a4t OGIS2 = 81 ras oS SS2

GO U LR JPCIRY oYY K S SIS W)
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6 ol oo 3 o eslizal strepy() b Jf GRs and 4 shand ) oty g K0y s glazd ) 035 oS (51
:.)_,)uaJqu Jg) QJ_,J‘\-:J)_)‘) Jl‘,istring.h JﬁUJé
strcpy (str1, str2) ;

:.\iﬁigJEJal)ﬂ)o\)Pa.;,:JistrlJas;..a|str2):454,'di‘”:.~>wld|ﬁ|l.,

strepy (st, "computer”) ;
strepy (s, st) ;

LJ,L,,J-_.;S4:..‘0d.'U..usu..stJ:bstu.szgj',:...ﬂ;,»au.uljistﬁb"computer"«;.:)d‘,l),:..a
A2 dal 4 "computer”

Joe 3l Aol S s 45‘}J_L>_u.ib w2l strl 3t A str2 J b ol strepy() &G a,l8
ot eize Sl 53,8 a1 ISHIL 3 e deolidl Lol (gla SIS 35,8 10 &) guo 2y OF 55 oS
bty K 5 53 1y a5 b s (s Ol g 4y ) il 31 LT D g ity azdls 13 strT 51 my
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char s3] ;
strepy (s, " computer science") ;

8-1A Jio 4D
..\:Su.au.i.l>¢;:)3|bn‘}>u)ny_-yJ:Sblsu.ul_,s6>JJ,)'||)nJ:..L5:.L;Jsrquluﬂsdh.al.}j
o position+1 Joa St f:’f:‘ Lady 5l oo oS Cod S ophay .ol 0dd eslinat strepy() C-'U o8 b st
ol s oS 4zl position Jowe
#include <stdio.h>
#include <conio.h>
#include <string.h>
int main() {
char string[81] ;
int position ;
clrscr();
printf("type a string :") ;
gets(string) ;
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printf(*enter position for ") ;

printf("delete character :") ;

scanf("%d", &position) ;
strepy(&string[position], &string[position+1]) ;
printf("the result string is: ") ;

puts(string) ;
getch();
return 0O;
}
oI
type a string : computer sclence
enter position for delete character : 8
the result string is : computersclence
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char name [3] [15] ;
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#include <stdio.h>
#include <conio.h>
#include <string.h>
void bubble(char [][21], int);
int bsearch(char [J[21], char [], int);
int main()
{
const int n = 5;
int i;
char name[21], arr [n}{21];
clrscr();
for(i = 0;i < n;i++){
printf("\n enter name %d ", i + 1) ;
gets(arr{i]);
}
bubble(arr, n);
printf("\n enter one name for search "} ;
gets(name) ;
if(bsearch(arr, name, n) == -1)
printf("\n name <%s> not exist in table.", name) ;
else
printf("\n name <%s> exist in table.", name) ;
getch();
return O;
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void bubble(char arr[5][21], int n)
{
int i, j;
char temp[21];
fori =n-1,i>0;i-)
for( = 0;j < i; j++)
if(strcmp(arr[j], arr[j + 1]) > 0){
strepy(temp, arr[j]);
strepy(arr(jl, arr[j + 1]);
strepy(arr[j + 1], temp);
}
}
//*******************
int bsearch(char arr[5][21], char name[21], int n)
{
int mid, low = 0, high = n - 1;
while(low <= high){
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mid = (low + high) / 2;
if(strcmp(name, arr[mid]) < 0)
high = mid - 1;
else if(strcmp(name, arr[mid]) > 0)
low = mid + 1;
else return mid;
}

return -1;

}

u-?})‘;
enter name 1 : mohammad ‘

enter name 2 : ali

enter name 3 : zahra

enter name 4 : ahmad

enter name 5 : sara

enter one name for search : ahmad
name <ahmad> exist in table.
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int *p1, *p2, vi, v2 ;
double *f1, f2 ;
char *ch;
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#include <stdio.h>
int  main()
{
float x, vy
int *n;
= 5.95;
p=2a&;
*p ,
printf "\ny = %f",vy);
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int x, *p1, *p2;
float vy ;
X = 1350 ;
y = 1460.1356
p1 = &x;
p2 = &y;
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int *pl,*p2,x,vy;

x = 50;

y =100;

pt = &x;

p2 = &y ;

*pl = *p2;
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int  x vy, *p1, *p2 ;

pl = &x;

p2 = &y ;

if (p1 == p2)

else
ch -> Yooo <« p
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int *p;
p = (int *) malloc (sizeof(int)) ;
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#include <stdlib.h>
#include <stdio.h>
#include <conio.h>
int main()
{
int *x, *y, s;
clrscr();
x = (int *) malloc(sizeof(int));
if(!x) {
printf("\n allocation failure.");
exit(1);
}
y = (int *) malloc(sizeof(int));
if(ty){
printf("\n allocation failure.");
exit(1);
}
printf("\n enter two integers:");
scanf("%d%d", x, y);
s=*x**x+*y**y;
printf("\n sum of square is:%d", s);
free(x);
free(y);
getch();
return Q;

u-?.,l’.'
enter two integers : 5 10

sum of square is : 125
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#include <stdio.h>
#include <conio.h>
void swap(int *, int *);

int main()
{
intx =10,y = 20 ;
clrscr();
printf("\n first value of x,y are:%d, %d", X, y) ;
swap(&x, &y);
printf("\n final value of x, y are:%d, %d", x, y) ;
getch();
return 0;
}
void swap(int *a, int *b)
{
int temp ;
temp=*a ;
*a=*b ;
*b=temp ;
}

ST
first value of x, y are : 10, 20

final value of x, y are : 20 , 10



10V S s

20} f]a
temp
y

main alisl> swap() absl> P-0 Jsik

F-¥ Jus €9
‘ﬁ_,}iq"xsg’nwlaﬁb‘}#...‘,k::u}&un.l.'o‘_,;'-LSJJ)JJ'HJL):.\G;..AU.QJG‘,JJLASG‘MUJQ
“3‘){‘,"

et
rect()C_&U‘—:‘)L‘JTMUJ{.M\S‘-"JL&J‘MUJJ'L.I(o.U‘)"GJJJJ‘j")L;L:h:‘.AyJﬁJJJLWinputc()‘ZU
bgju_\.,muﬁ,.ul;;u,ﬁ‘_,t.,\uujwa;wt,ub‘}:\a;.“g»,@uGuw,.\;sumt.,)l
33 A b 3 Ll Ol plor )t G b S el QLS L aS ol s sl 51 G 5 a oy 52 4,
Jlwsl e Gy b 5 Kos byl 45 gt Ge b Shrect() wb bl s 3¢l 6o b Stwinput() jub,
(dey hF—F JS2) 4 g 0

Ll gl i
RV ron ol dolip pU
Jebis Jsbo | len main
Jedaius o, | wid
St Crbus | area
Jolatons baa | per
9 ga 0 )Ll aalipy 0 Jubata Jobo 4y aSgle ) 2l | p1 winput()
550 0,8 401 3 Jolats o0 4 45l ) el | P2
Gl yolb) Judatons Jobo | X rect()
Olaie jehl) Jebainne (35e | Y
A5 g0 0l el s 58 Jeatuns cuolune 4y Sel> | by | @
S, o 0,L8) iy 50 Judatns Jasone 4y a5 gl sabb | P




#include <stdio.h>
#include <conio.h>
void winput(int *, int *);
void rect(int, int, int *, int *);
int main()
{
int len, wid, area, per;
clrscr();
winput(&len, &wid);
rect(len, wid, &area, &per);
printf(" length = %d, width = %d", len, wid);
printf("\n area = %d, perimer = %d", area, per);
getch();
return O;

}

//**************************
vold winput(int *p1, Int *p2)
{
printf(" enter length, width :");
scanf("%d%d", p1, p2);
}
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void rect(int x, int y, int *a, int *p)

{

*
QD
I

_.X*y;
= 2% (x + y)

*
©
|

u’.‘.’}
enter length, width : 10 5

length = 10, width = §
area = 50 , perimer = 30
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#include <stdio.h>
#include <conio.h>
#include <string.h>
void check(char *a, char *b, int (*cmp)(const char *, const char *);
/fint emp(char *, char *);
int main() {
char s1[80], s2[80] ;
int (*p)(const char *, const char *);
clrser(};
p = stremp;
printf(* enter first string :") ;
gets(s1) ;
printf(* enter second string :") ;
gets(s2) ;
check(s1, s2, p);
getch();
return 0;

}

//*********************

void check(char *a, char *b, int (*cmp)(const char *, const char *)) {
if(!(cmp)(a, b))
printf(* the strings are equal.”);
else
printf(" strings are not equal.");
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enter first string : ali

enter second string : ahmad
strings are not equal.
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check (s1, s2, strcmp) ;
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int table [5] ; —
int * ptr;
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#include <stdio.h>
#include <conio.h>
int main() {
int arr[5] ,i ;
clrscr();
printf("\n enter five value ") ;
for(i=0 ; i<5 ; i++)
scanf("%d",&arr[i]) ;
printf("\n the reverse output is :);
for(i=4 ; i>=0;i-)
printf("%4d",*(arr+i)) ;
getch();
return O;

. u-?JJ"’"
enter five value : 14 7 8 9 5
8 7

the revers outputis : 5 9 14
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int *x, n;
scanf ("%d".&n) ;
x = (int *) malloc (sizeof (int) * n) ;
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int p;

p = (int *) malloc (n * sizeof (int)) ;
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#include <stdio.h>
#include <stdlib.h>
#include <conio.h>
void pinput(int *, int);
void bubble(int *, int);
void median(int *, int, float *);
void pout(int *, int);
int main(} {
int n, i;
int *p;
float mead;
clrser();
printf(" enter number of items(n):");
scanf("%d", &n);
p = (int *)malloc(n * sizeof(int));

if(1p){
printf(" aloocation failure!");
getch();
exit(1);

}

pinput(p, n);
bubble(p, n);
printf(\n sorted data are:");

pout(p, n);
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median(p, n, &mead);

printf("\n median = %5.2f", mead);
getch();

return O;

}

//*********************4********
void pinput(int *p, int n)
{
int i;
for(i=0;i < n; i ++){
printf("enter number %d:", i + 1);
scanf("%d", p + i);
}
}

/ KhkkhkkhkkhkkrRRkAKAkhhkkkkRxhkkkik

void bubble(int *temp, int len)

{
int i, j, item;
for=len-1;i>0;i-)
for( = 0;j <i;j++4)
if(*(temp + |) > *{temp + j + 1)) {
item = *(temp + j);
*(temp + j) = *{temp + | + 1);
*(temp + j + 1) = item ;
}/end of if
}

//*************************

void median(int *x, int n, float *mead)

{
if(n % 2 == Q)
*mead =(float) (*(x + (n-1)/2) + *x+ (n/2)) /2
else
*mead = *(x + (n- 1)/ 2);
}
//****************

void pout(int *p, int n)
{
inti;
for = 0;i<n;i++)
printf("%3d",*(p+i));
}
printf("\n");
}
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SIS
enter number of items (n) : 6

enter number 1 : 10

enter number 2 : 9

enter number 3 : 8

enter number 4 : 4

enter number 5 : 14

enter number 6 : 19

sorted dataare:4 8 9 10 14 19
median = 9.50
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#include <stdio.h>

#include <conio.h>

int char_count(char *, char);

int main()

{
char string[40] , ch ;
int count ;
clrscr();
printf(" enter string for search:");
gets(string) ; -
printf(" enter a character:") ;
ch = getche() ;
count = char_count(string, ch) ;
printf("\n number of occurs of char ") ;
printf(" <%c> is:%d", ch, count);
getch();
return O;
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//******************

int char_count(char *s, char letter)

{
int count=0 ;
while(*s)
if(*s++ == letter)
count ++ ;
return(count) ;
}
SIS
enter string for search : a book about computer.
enter a character : a
number of occurs of char <a> is : 2
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#include <stdio.h>
#include <conio.h>
first_dif(char *, char *, int);
int main()
{
char st1[40], st2[40] ;
int compcase = 1 ;
clrscr();
printf(" enter first string:"} ;
gets(st1) ;
printf(" enter second string:");
gets(st2) ;
first_dif(st1, st2, compcase) ;
getch();
return O;

}

/ kKRR ARARRAKRKRKKK KKK

first_dif(char *s1, char *s2, int ignore_case)
/* if ignore_case is 1 ,ignore case
of letter */

inti;
chara,b;
for(i = 0; *s1 && *s2; s1++, 82+ +, i++)
if(*s1 1= *s2) {
if(ignore_case) {
a= (*s1 >='a’ && *s1 <= '2") ? *s1 -= 32 : *si;
b= (*s2 >='a’ && *s2 <= 'Z') ? *s2 -= 32 : *s2;
if(a 1= b)
break ;
}/end of if
else
break;
}/end of if
if(*s1 || *s2) {
printf("\n strings are not equal,");
printf(" the first difference occurs in :%d", i + 1);
}
else
printf("\n strings are equal .") ;
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enter first string : computer
enter second string : command
string are not equal, the first different accurs in : 4
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*value = (*value *10) + (*str ++ -48)
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#include <conio.h>
#include <stdio.h>
void ascli_to_int(int *, char *);
int main()
{
int number ;
char s[10] ;
clrscr();
printf("\n enter numeric string:");
gets(s) ;
ascii_to_int(&number, s) ;
printf(* numeric value is:%d", number) ;
getch();
return O;
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//**************************

void ascli_to_int(int *value, char *str)

{
int sign = 1 ;
*value = 0 ;
while(*str == "") str++ ;
if(*str=="-" || *str == '+')
sign = (*str ++ == ") 7 -1 :1;
while(*str)
if((*str >= '0") && (*str <= '9)
*value = (*value * 10) + (*str ++ -48) ;
else {
printf("Watning :the <%c> is invalid character.\n", *str);
break ;
}
*value *=sign ;
}
SIS
enter numeric string : 175
numeric value is : 175
$-\o Jia @
.JSL;CL}iJTS4;.:4‘)4.5ca.;u‘)"6)J)J.}||)C=M‘55J§)‘J.EA66|MUJ{
_ gros
3 g g g e S ol (6l OF Dolonnd 5 5 S, g0 Jae F=8 aali yy Koy aall
Ll sl i
Sap gueLrs &b

394 Jadars, aubaSgoae | number main()
number soe glas, Juie | S
b ouiles (595,9 jaS goae Juie | value int_to_ascii()

Gl (g008 &8 5ol a5 (5 5o L0 str
39 ez 3 ool adgl Jlake value ,.ss il 0 b asS e g lagSily value jlui. | saveval
Sl str So Laf o5 3 0 b oS o Lol ans ) ghacl 4 a8 glans ) o Lok savestr
oolizul  Juol> (5398 825, (33 )5 pogSian sl yuie nl oSl (asetie ai,
. S9d st
AU ploulr (slp (oS iz | teMP




\f“' LD;O)L::'

B3 e ) B S g Jl Nt _t0_aSC() b 4 ol 5 (52,355 51 geoes s :MAIN() 235

4 s 3 e 03 Sl 1, 01 Slendy 5 LS o b o1y Jlais ) ge s b ;,il:int_to._ascii() é“b
‘.L;‘,.:J.xc..:)gr,;w;b.U,.:dalka.xag:...bw)‘lw)oy;..Lnu,);stru;.:)):uzsus
;.u;,i‘w<.L;J|Q;Jsuﬂtd,s.;;w,subu,.u_p‘m;,wMj,s|)wqfu)tru¢.x,:j|m
ke 3 5 S e sde U5 58 e =Y 3l iwvalue il 9548 0 (5,16 saveval s

2 S - while (value > 0) b5 5 )15 ailo 53 OF pU 1 e gty ooy 40 45 Sl o

#include <stdio.h>
#include <conio.h>
void Int_to_ascii(int , char *);
int main() {
int number ;
char s[10] ;
clrscr();
printf(" enter a number :");
scanf("%d", &number) ;
int_to_ascii(number, s) ;
printf(" the string value is:%s", s);
getch();
return O;

}//**********************************
void int_to_ascii(int value, char *str)
{
int saveval= value ;
char temp, *savestr = str ;
if(value < 0)
value *= -1 ;
do{
*str ++ = (value % 10) + 48 ;
value = value / 10 ;
} while(value > 0);
if (saveval < Q)
*str++ = ' ;
*str - = \0';
while(savestr < str) {
temp = *str ;
*str -- =* savestr ;
*savestr ++ = temp ;

}

}

u’.’.’f‘;
enter a number : -175

the string value is : -175
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char *axd)el = "aid," ;
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! char *s = "computer" ;

$-1\ Jia @D

..,\:Sdac»_J..‘..S‘Ln;e)l..:\Q\);qul.nc.:)qaabA:JJ|)|..\LJ§J)§,‘ASL5|UUJ_.

#include <stdio.h>

#include <conio.h>

int main() {
char *text="your name is:";
char name[41];
clrscr();
printf("\n enter your name :") ;
gets(name) ;
printf("* %s" text);
puts(name) ;
getch();
return O;

I
enter your name : ali

your name is : ali

P g 4 Ol PN b s ol
char text [] = "your name is :" ;
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#include <stdio.h>
#include <conio.h>
#include <string.h>
int main()
{
int dex;
const int k = 5;
char name[21];
char *listfk]=
{ na"u,
"ahmad",
"alireza",
“jalal",
"mohammad"
}
clrscr();
printf(" enter a name for search:") ;
gets(name);
for(dex = 0; dex <k; dex++)
if(stremp(list{[dex], name))
break ;
if(dex == k)
printf(* name <%s> not exist.", name) ;
else
printf(" name <%s> exist.", name);
getch();
return O;
} -
SIS
enter a name for search : ali
name <ali> exist.
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list [0] 1000 — 1000 [Ah [m[a [d [\0]

list [1] 1006 |[—= 1006 A |1 Ti ]\0]

list [2] 1010 +—= 1010  [Am]i [n [\O

list [3] 1015 |—» 1015 [J la|f Ja]r [nJe ]z [h[a [d ]\0]
list [4] 1027 —» 1027 [BJa|h [r Ja [m[i [\0]
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list )] ———— 1000 Alh |mla [d |\

list [1] ————= 1012 Al ]i {\O

list [2) —————= 1024 A|mii |n|\0

list [3] —  —m 1036 Jia|f |a|r {n|e |z (hja |d [\0
list [4] —— 1048 Bfa |hir ta |m]i |\O
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#include <stdio.h> Saa i
#include <conio.h> ohsmadls salube >3 glp camgo 41| nName
#include <string.h> wsobol (g5l po (sl b So Ll 5l sll | ptr
int main() A5 slaails glawut]  inout
{ SaS Soil pita S| temp
char name{30][81]; Shazails gelul slas oaijled g ,))S5 dill> wait|  count
char *ptr[30], *temp; obgmdib slaws gt | K

int in, out, count = 0O;
const int k = 30 ;
clrscr();
while(count < k) {
printf(" enter name of number %d:", count + 1);
gets(name[count]) ;
if(\name[count][0])
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if(!name[count][0])
break ;
*(ptr + count ++) = name[count] ;
}
for(out = 0; out < count - 1; out ++)
for(in = out + 1; in < count; in++)
if(stremp(*(ptr + out), *(ptr + in)) > 0){
temp = *(ptr + in) ;
*(ptr + in) = *(ptr + out) ;
*(ptr + out) = temp ;

printf("< < the sorted list is:>>\n");
for(out = 0 ; out < count ; out ++)
printf("\n name %d is:%s", out + 1, *(ptr + out));

getch();
return O;
}
SIS
enter name of number 1 : bahrami
enter name of number 2 : amin
enter name of number 3 : jafar
enter name of number 4 : sadeghi
enter name of number 5 :
<< the sorted list is : >>
name 1 is : amin
name 1 is : bahrami
name 1 is : jafae
name 1 is : sadeghi
ptr [0] —» | blajhir [alm]|i [\O
ptr [1] —» | a|m|i {n[\0
ptr [2] — | jla|f |a]|r|\0
ptr [3] —» | s|a|d|e|g|h]i [\O
PVe JSuk
O 5 o 3 a8 5L cnas g
ptr [0] blalh|r |aim]|i |\O
ptr [1] >< a|mli |n [\0
ptr [2] — [jla}lfa]|r|\0
ptr [3] —» (s|aldfe|g|h]i [\O
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#include <stdio.h>
int main()
{
int x, *p ,**q;
clrscr();
x=10;
p=28x;
q=2&p;
printf("\n the q points to value:") ;
printf(*%d",**q) ;
getch();
return 0;

¥y .’J;
the q points to value : 10
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#include <conio.h>
#include <stdio.h>
main() {
intx, *p;
clrser();
x=10;
P=x,
printf("\n %d", *p) ;
getech();
return O; -

}
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#include <stdio.h>
#include <conio.h>
main() {
int x , *p;
clrscr();
x =10 ;
P=Xx;
printf("\n %d", *p);
getch();
return O;
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#include <stdio.h>
#include <conio.h>
int main() {

char s[80], y[80] ;
char *p1 , *p2 ;

clrscr();
pl =s;
P2=y;

printf("\n p1 is %p, p2 is %p", p1, p2);
printf("\n p1 points to lower addree?");
getch();
return O;
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#include <stdio.h>
#include <conio.h>
int main()

int first[10], second[10] ;

int*p, t;

p=first ;

forft =0;t<20;t ++)
*o++ =t;
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#include <stdio.h>
#include <stdiib.h>
#include <conio.h>
#include <string.h>
int main(int argc, char *argv[]) {
int disp, count ;
clrscr();
iffargc <= 2) {
printf(" number of parameter is wrong.");
printf("\n usage: number display");
getch();
exit(0);
}
iffargc == 3 && !strcmp(argv[2], "display"))
disp=1 ;
else
disp=0 ;
for(count = atoi(argv[1}); count ; --count)
if(disp)
printf("\n %d *, count} ;
printf("%c", 7);
getch();
return O,
}
eTI

C:\BC> 6-26 5 display
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#include <stdio.h>
#include <stdlib.h>
#include <conio.h>
#include <string.h>
int main(int argc, char *argv(])
{
intt,i;
clrscr();
if(argc < 2) {
printf(" number of parameters is wong.");
printf("\n usage : PROG arg.";
exit(0) ;
}
for(t = 0; t < argc ; ++t)
for(i = O; argv[t][i]; i ++)
printf("\n %c ",argv[t][i]) ;
getch();
return O;

}
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int *zptr
int *aptr = NULL ;
void *sptr = NULL ;

int number, i ;

int z[5] = {1,238, 4, 5}
sptr =z ;

a) ++zptr ;

b) number = zptr ;

¢) number = *zptr [2] ;
dfori=0;i<=5;i++)
printf ("%d", zptr {i]) ;

#include <stdio.h>

int mystery2 (const char *);
int main()
{

char string [80] ;
printf("\nEnter a string: ") ;
scanf("%s",string) ;
printf("%d\n",mystery2(string)) ;

return 0 ;
}
/ Rekdededekdek ki kdkdekdhkkhkkdkhkikk
int mystery2 (const char *)
{

int x=0;

for ; *s!= "0, s ++)

++ x;

return x;

}

a) int  *num ;
printf("%d", *num) ;

b) short  *numptr, result ;
void *genericptr = numptr ;
result = *genericptr +7 ;

it Jod VY

Aol num2 ui. e

A5l %P cu plhnumt oot @

SOl L TPHr 50 59250 o o] @
ol ezl Y

owsS asdaely 5 Solygis a4y Jogr e SYISAS

Cans g plol Jocaz pyaay ¥

tomlnl) 25 slepds G e oYSSL L E



WO o Lal

[

Sala 0,658 plaaslyT 53wl (5399 51 Slplsee Sl tie f 53bad LS 6 )lad g ol &S by slaaliy
0D 083193 (63959 3l (oL s g 0,033 Gl ) 5la o L1 slaabl ;o ol 2t ol g goue )T 5o lgaili o Lt
o (g oy 5 5135 Jlgts S 15 bl sl bl aalp S il g 5 1035 i g ol ot
iy i 2l ol g g2t DM il (el a5 S e L LS ey

o

St 79 4 gSae sty Tl g 938 Jluf ool 4 onilss (5399 1 SIS ) 45 Sy gy (slanli

b T e 255,50 o 9 A0 o (s iy e T Gl 508 ke s o s slasby
35,85, lagleg® T olass syl 4ol oS lagy

a8 o g kel soe ) T ol s (5099 5 el Slielalais golo a5, (g30e il ) 4T Spunns g (slaali

<

>

Sl oM 9 J2 sl (0 a2, 55 (sl oalh oled ooy 128,42 s 4,"123.42" &2, Jlie fgie
iged Jlw f s s £l lly (o8 32 o 5o y2ally hsgis (29,5 5 008 Rbgs

T3> 0 g e £9,5 D By LaS, plaaid, T dakd ceadly s (5399 11y albai, o5 Ssgiy (slaliye
Seps Ladl Enter o 1S bads sy op 51 glo 4y g asS Ul

pr

S (25 65500 by (K4 oty (5999 511, 433 90 45 Spmgis (slaaliy N o
b et ol sl ,2 WS S gohans cazhniy lag ST lyis aly 5008 Micn oS 5 40,y S 48 gy (gal5 1)
i 00litesl 3 3145 drnns gy (510l 1 s 10 B 1 0003 1,3 (5, R00 4T ) 13 395 g0 At 308 ol b4
98 o0 £33 Ve TE ool X a0 ey o sl (29,5 Y
#include <stdio.h>
#define M 5
int main()
{
inti,j, x[M];
for(i=0;i<M;i++)
x[il=x+1i;
fori=0;i<M;i++)
printf ("\n x[%d] = %d" , i, * (x + i) ;
getch () ;
return O ;
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struct personel {
char name [31] ;

int persno ;
int salary ;
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struct obssle go < plaislu glo ypiio oobwl> ;
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struct personel pl, p2;
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olasle pole
} oleasle gl yuise ol ;
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struct {
char name [31] ;
int persno ;
int salary ;
}pl, p2;
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pl.name
p1.person
p1l.salary
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struct student {

char name [31] ;

int cours [10] ;

int unit [10] ;

int grade [10] ;

int person ;

} st1, st2 ;
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stl.persno = 1243 ; (Olesslw jaie 4 310 Hludo)
printf ("\n%d", st1.persno) ; (Oleaslo ypaie (3 S ola)
gets (stl.name) ; (Oless Lo glandy yaie guilgs)

for (i=0;i<10;i++)
scanf("%d", &sti.unitf[i]) ;
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#include <stdio.h>

#include <conio.h>

int main ()

{
struct complex {

int real ;
int unreal ;

} comp1 , comp2 ,result ;
clrscr();
printf("enter the real part for number %d:", 1);
scanf("%d", &comp1.real) ;
printf(*enter the unreal part for number %d:", 1);
scanf("%d", &comp1.unreal) ;
printf("enter the real part for number %d:", 2);
scanf("%d", &comp2.real) ;
printf("enter the unreal part for number %d:", 2);
scanf("%d", &comp2.unreal) ;
result.real = compi.real + comp2.real;
result.unreal = comp1.unreal+comp2.unreal;
printf(‘result is:real=9%d,unreal=%d", result.real, result.unreal);
getch();
return O;

Nl
enter the real part for number 1 : 12

enter the real part for number 1 : 25
enter the real part for number 2 : 5
enter the real part for number 2 : 19
result is : real = 17, unreal = 44

Oleialn &3 adlsl (503 b))l

F o e 03 sl palin 5 glie ol (s 015 adof Jlbie LaaplT iilen Olatst b 43 51 (s it 4 O 55 o
ol 3 o 5 4 g gm0l e Ol ke 4 48 (6 ol iy n Mo LU SILIS L i 8 3
el oy e el g eate (e g3 4 M (o3« peale (g Sl 0 18 e 1B Ol e
b il sode jeelis 4l Hlie (Al 2eS Olazslo juolio slaas 5o ,5lae slias 815 58 pe 00hs G ezt
A dal g ((EINULLL )y (land ) jeolis ads jldide y jiw

Wlazstlor g 33y 55 0 g g2amd oy 80 5 55 el oal 5 53 S, student Olezslo g 40
LS 0 iy pai student CJSJ!};\)SZJSI eRia 93




W bglasle

struct  student {
char name [21] ;
char address [30] ;
int grade [10] ;

int stno ;
} s1, 82
struct student st1 = {"ali", "mashhad", {0} , 15} o
struct student st2 = {0} ; ")
struct student st3 = {"ahmad", "\0' ,{15, 20}, 0}; )
struct student st4 = {reza"} ; *)

5istno )30 ygrade o 1,i »obe S )5 jis caddress ;> "mashhad" cname )>"ali" jluis .Y $od S
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#include <stdio.h>
#include <conio.h>
struct student {
char name[30] ;
float grade ;
b
int main ()
{
inti,n;
float y ;
clrscr();
struct student st1={0} ;
struct student st, st2={0};
printf("enter the number of student: "); s
scanf("%d", &n) ;
fori=1;i<=n;i++) {
printf("enter name of student %d ", i);
scanf("%s", st.name) ;
printf("enter grade of student %d :", i);
scanf("%f", &y) ;
st.grade =y,
if (st.grade > stl1.grade){
st2 = sti ;
st1 = st;
Y/enf of if
else if (st.grade > st2.grade)
st2=st ;
}/end of for
printf("the name of second student is :%s", st2.name) ;
printf("\nthe grade of second student is:%.2f", st2.grade);
getch();
return O;

g’.)ﬁ
enter the number : 3 -

enter name of student 1 : ali

enter grade of student 1 : 12.6

enter name of student 2 : ahmad
enter grade of student 2 : 18.2

enter name of student 3 : reza

enter grade of student 3 : 14.5

the name of second student is : reza
the grade of second student is : 14.50
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struct  _student {
char name [21] ;
int stno ;
fioat ave ;

};

struct student , st[1 Op] ;

studentQL.::'-L.nt__,J)'hQTﬂl;;jigi__._,n«S:J.:‘;a;LUaJd)_,Lst S oo qlﬂ‘c;b_,:.,,.swl);

st[0] st[1]

st{0].name st[0].stno st[0].ave st[1].name st[1].stno st[1].ave
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#include <stdio.h>
#include <stdlib.h>
#include <conio.h>
#define MAX 100
struct addr{
char name[10] ;
char street[15] ;
char city[10] ;
char state[3] ;
unsigned long int zip;
} addr_info[MAX] ;
void Init_list_all(vold), enter(void) ;
void delete_e(void);
void list_all(void) ;
Int menu_select(void), find_free(void);
int main()
{
char choice , ch ;
clrscr();
init_list_all() ;
for(;:{
choice = menu_select() ;
switch(choice) {
case 1: enter(); break ;
case 2: delete_e(); break :
case 3: list_all(); break :
case 4: exit(0) ;
} /lend of switch
}/end of for
}

//****************************
void init_list_all(void)
{
register int t ;
for(t = 0; t < MAX; ++t)
addr_info[t].name[0]="0";
}

//****************************

int menu_select(void)
{
char s[10] ;
int ¢ ;
clrscr() ;
gotoxy(29, 6);
printf("1) << enter a name >>");
gotoxy(29, 8); -
printf("2) << delete_e a name >>");




gotoxy(29, 10);
printf("3) << list_all the file >>");
gotoxy(29, 12);
printf("4) << Quit >>";
do {
gotoxy(24, 15) ;
printf(" Please enter your choice(1-4):");
gets(s) ;
¢ = atoi(s) ;
} whilec < 0 |jc > 4);
return (c);

}

/ khkhkkkkhkhkkkhrhhkkkhkkkhkkkhkhik

void enter(void)
{
int slot ;
char s[80] ;
slot = find_free() ;
if(slot == -1) {
printf("\n list full");
return ;
}
gotoxy(5, 17) ;
printf("enter name:") ;
gets(addr_info[slot].name);
gotoxy(40, 17) ;
printf("enter street:") ;
gets(addr_info[slot].street);
gotoxy(5, 19) ;
printf("enter city:") ;
gets{addr_info[slot].city) ;
gotoxy(40, 19) ;
printf("enter state code:") ;
gets(addr_info[slot].state) ;
gotoxy(22, 21) ;
printf("enter zip:") ;
gets(s) ;
addr_info[slot].zip = strtoul(s,\0’,10) ;
}

//****************************
find_free(void)
{
register int t ;
for(t = 0 ; addr_info[t].name[0O}
&& t < MAX ; +4t);
ift == MAX) return -1 ;
return t ;

AP
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}

”****************************
void delete_e(void)
{
int slot ;
gotoxy(28, 19) ;
printf("enter record #(0-99):");
scanf("%d",&slot) ;
if(slot >= 0 && slot < MAX)
addr_info[slot].name[0] = "\0’;

}

”****************************

void list_all(void)
{
register intt;
intr=20;
char ch ;
clrser() ;
gotoxy(25, 2) ;
printf(" << all information in list are:>>") ;
gotoxy(13,3) ;

pﬁnﬁc**********************“;
PrNt("#x ki kkk sk nnmsennsn)

PHNtf(***xxxwaxnnrrsniohssn) .

gotoxy(10, 4);

printf(" name street city ");
printf(" state zip");

gotoxy(10, 5);

printf(" "
printf(" )

for(t = 0; t < MAX ; ++1) {
if(addr_info[t].name[0]) {

gotoxy(14, 6+r) ;
printf("%s “,addr_info[t].name);
gotoxy(26, 6+1) ;
printf("%s ",addr_info[t].street);
gotoxy(40, 6+r) ;
printf("%s *,addr_info[t].city);
gotoxy(54, 6+r) ;
printf("%s ",addr_info[t].state);
gotoxy(70, 6+1) ;
printf("%lu ",addr_info[t].zip);
r++ ;

}

}
gotoxy(13, 6+r) ;

printf("********************..)
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pﬁnﬁcw********************“;
printf(“********************II)
gotoxy(27, 7+r) ;
printf(*press any key to continue');
getch() ;

g;..,\,,-ﬁbﬁ&,_gu,-..:,J,\«;,_J-s.g,:u,x,..,_\.;ﬂ_,-:vLfd_,;.wuf_dlﬁ\,-tw:uu,,.».;l.:-
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38 g0 4l 3l g 2 o g gl 258
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. << enter a name >>

. << delete a name >>

. << list the file >>

. << quit >>

please enter your choice (1-4) : 1

enter name : mohammad

enter street : daneshgah

enter city : mashhad

enter state : 23

enter zip : 123

1. << enter a name >>

2. << delete a name >>

3. << list the file >>

4, << quit >>

please enter your choice (1-4) : 1

enter name : naser

enter street : asrar

enter city : mashhad

enter state : 34

enter zip : 432

1. << enter a name >>

2. << delete a name >>

3. <« list the file >>

4. << quit >>

please enter your choice (1-4) : 3
P L Ty e e e T T T e S I Sl 2l e s e B s

W=

name street city state zip
mohammad daneshgah mashhad 23 123
naser asrar mashhad 34 432

RRATRRIRTEFRETTFRAEARRIREEKARARRKKKAKRREERKARIRRARERARRARRRKR AR hhhhhhhhkhhhhhh

press any key to continue
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#include <stdio.h>
#include <stdlib.h>
#include <conio.h>
#define MAX 100
int main()
{
int i, n, sumage = 0, maxold=0 ;
struct date {
int day ;
int month ;
int year ;
} today ;
struct employee {
char name [30];
int persno ;
struct date workdate ;
int age ;
int old ;




} emp[MAX] ;
struct employee maxemp = {0} ;
clrscr();
printf(" enter the number of employees ") ;
scanf("%d",&n) ;
printf(" enter today date(day month year):") ;
scanf("%d",&today.day) ;
scanf("%d",&today.month) ;
scanf("%d",&today.year) ;
fori=0;i<n;i++) {
printf(" enter name %d:", i + 1) ;
scanf("%s", empli}.name) ;
printf(" enter personel number %d:", i + 1) ;
scanf("%d",&empli].persno) ;
printf(" enter work date(day month year) %d:", i + 1) ;
scanf("%d",&empl[i].workdate.day);
scanf("%d",&empfi].workdate.month);
scanf("%d",&emp[i].workdate.year);
printf(" enter age for person %d:", i + 1);
scanf("%d",&empli].age) ;
if (today.month > emplil.workdate.month ||
(today.month == empli].workdate.month &&
today.day >= empli].workdate.day ))
empli].old = today.year - empli].workdate.year ;
else

empl[i].old = today.year - emp[i].workdate.year - 1 ;

if (empli].old > maxold) { :
maxold = empfil.old ;
maxemp = empli] ;
}//end of if
sumage += emplil.age ;
}/end of for
printf("\n the average of age is :%.2f", (float)sumage / n) ;
printf("\n the specification of a older person:") ;
printf(\n the name is : %s", maxemp.name) ;
printf("\n the persno is: %d", maxemp.persno) ;
printf("\n the age is: %d", maxemp.age) ;
printf("\n the old is: %d", maxemp.old) ;
getch();
return O;
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enter the number of employees : 2

enter today date (day month year) : 11 3 78
enter name : ahmad

enter personal number : 1231

enter work date (day month year) : 12 2 65
enter age for person 1 : 30

enter name : mohammad

enter personal number : 4323

enter work date (day month year) : 2 4 62
enter age for person 2 : 35

the average of age is : 32.5

the specification of a older person :

the name is : mohammad

the persno is : 4323

the age is : 35

the old is : 15
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struct  student {
char x ;
int stno ;

char name [31] ;
} st1;

Ju‘,-\:ldﬂ func() (b‘u u,utv' A\J.Stl L’LQ:’LAJ:.&:.AJJL.F JJ_:LL JLE.D‘ (S X J._:.) CJ‘)):..») )|L§_:_JA
func (st1.x) ;

func (st1.stno) ;
func (st1.name [5)) ;
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func (&st1.x) ;

func (&st1.stno} ;
func (&st1.name [5]) ;
func (st1.name) ;

23 b Olasile e ol 5t L3 LL& 35 odalin O s a8 gazs ol 3 45 5 skl
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#include <stdio.h>
#include <stdlib.h>
#include <conio.h>
void test(char *);
int main()
{
struct ss{
char name[20] ;
int x ;
}s;
clrser();
printf("enter name and stno:");
scanf("%s%d", s.name, &s.x) ;
test(s.name) ;
getch();
return O;

}

//*****Q:*****************

void test(char *s)
{ .
printf("name is:");
while(*s){
printf("%c", *s) ;
s++ ;
}
}

T
enter name and stno : ali 125

name Is : ali
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#include <stdio.h>
#include <stdlib.h>
#include <conio.h>
struct personel{
char name[30] ;
int agenum ;
b
struct personel newname();
void list(struct personel);
int main ()
{
struct personel agentt , agent2 ;
struct personel newname() ;
clrscr();
agentl = newname() ;
agent2 = newname() ;
printf("\n<< agent name agent number\n") ;
list(agent1) ;
list(agent2) ;
getch();
return O;

}

/ kkdkhkhkhkkkkhkhkhkhkhkhkikh

struct personel newname()

{

char numstr[80] ;
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struct personel agent ;

printf(" << New agent >>\n");
printf("Enter name:");
gets(agent.name) ;

printf("enter agent number(3 digit):");
gets(numstr) ;

agent.agenum = atoi(numstr) ;
return(agent) ;

}

//**************************

void list(struct personel age)

{
printf("%15s %10d\n", age.name, age.agenum);

}

SIS
<< new agent >>

enter name : reza
enter agent number (3 digit) 213

<< new agent >>
enter name : mohammad
enter agent number (3 digit) : 123
<< agent name agent number >>
reza 213
mohammad 123
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struct bal {
float  balance ;
char name [80] ;
} person ;
struct bal *p ;

Py 80 S ) 5 s O S

p = &person ;
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#include <stdio.h>
#include <stdlib.h>
#include <conio.h>

struct tm {
int hours ;
int minutes ;
int second ;
5

void display(struct tm *);
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void delayt ();
void update (struct tm *);

int main ()

{
struct tm time ={0} ;
clrscr();
for ()

update (&time) ;
display (&time) ;

}

/ ¢ Jo d e e de ke ke e e de ok de ke ek ke ok

void display(struct tm *t)

{
gotoxy(70, 2) ;
printf("\n%2d:", t -> hours) ;
printf("%2d:", t -> minutes) ;
printf("%2d", t-> second) ;
}

/ hkhkkkkkkhhkkkhkhkkkkkkkkkk

void update (struct tm *t)
{
t-> second ++ ;
if (t-> second == 60)
{
t-> second=0 ;
t-> minutes ++ ;
}
if (-> minutes == 60)
{
t-> minutes=0 ;
t-> hours ++ ;
}
if (t-> hours==24)
t-> hours=0 ;
delayt () ;
}

//****************

void delayt ()
{
long int t ;
for (t = 1; t < 20000000 ; ++t) ;
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#include <stdio.h>
#include <stdlib.h>
#include <conio.h>
#define MAX 100
struct student {
char name[10] ;
float mead ;
int  unit ;
int  number ;
int stno;
} st info[MAX] ;
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void init_list(void), enter(void);
void del_rec(void), list(void);
void list1(), list2();
void print(int *, int), title(int *);
int menu_select(void);
int find_free(void) ;
int main(void)
{
char choice ;
init_list() ;
for(i;){
choice = menu_select() ;
switch(choice) {
case 1: enter(); break;
case 2: del_rec(); break ;
case 3: list(); break;
case 4: list1(); break ;
case 5: list2(); break ;
case 6: exit(0) ;
} // end of switch
}/end of for
}

//*********************

void init_list(void)

{
register int t ;
for(t = 0; t < MAX; ++t)
st_info[t].name[0] = "\O’ ;
}

//*********************

int menu_select(void)
{
char s[10];
intc,;
clrscr() ;
gotoxy(29, 3) ;
printf("1) << enter a student >>");
gotoxy(29, 5) ;
printf("2) << delete a student >>");
gotoxy(29, 7) ;
printf("3) << list the array >>";
gotoxy(29, 9) ;
printf("4) << list for probation >>");




}

gotoxy(29, 11) ;
printf("5) << list for exelent >>");
gotoxy(29, 13) ;
printf("6) << Quit >>");
do {
gotoxy(27, 15) ;
printf(" Please enter your choice(1-6): ") ;
gets(s);
¢ = atoi(s);
} whilelc < 0 || ¢ > 6);
return (c) ;

/ hekdhkkkdkkdkhkhkdkkikkhki

void enter(void)

{

float grade, sumgrade = 0;
int slot, j, unit1, sumunit = 0 ;
slot = find_free() ;
if(slot == -1){
printf("\n list full. press a key to continue...");
getch();
return ;
}
gotoxy(5, 17) ;
printf("enter name:") ;
gets(st_info[slot].name) ;
gotoxy(5, 18) ;

- printf("enter stno:") ;

scanf("%d", &st_info[slot].stno) ;
gotoxy(5, 19) ;
printf("efiter number of course:") ;
scanf("%d", &st_info[slot].number) ;
for( = 1; j <= st_info[slot].number; j++) {
gotoxy(40, 17) ;
printf(" “);
gotoxy(40, 17) ;
printf("enter grade number %d:");
scanf("%f", &grade) ;
gotoxy(40, 19) ;
printf(" ")
gotoxy(40,19) ;
printf("enter unit of grade %d:", j);
scanf("%d", &unitl) ;

Yoo
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sumgrade += grade * unit1 ;

sumunit += unit! ;
} //end of for
st_info[slot].mead = sumgrade / sumunit ;
st_info[slot].unit = sumunit;

}

//*********************

int find_free(void)
{
register int t ;
for(t = O; st_info[t].name[0] && t < MAX ; ++t);
if(t == MAX) return -1 ;
return t ;

}

//*********************

void del_rec(void)
{
int slot ;
gotoxy(28, 19) ;
printf(*enter record #(0 - 99):") :
scanf("%d", &slot) ;
if(slot >= 0 && slot < MAX)
st_info[slot].name[0]="\0" ;

}

//*********************
void list(void)
{
intt r=0;
clrscr() ;
title(&r) ;
for(t = 0; t < MAX; ++1)
if(st_info[t].name[0])
print(&r, t);
gotoxy(13, 1) ;

printf(ll******************************ul);
printf("*******'k***********************ll) '
gotoxy(27, r + 1) ;

printf(‘press any key to continue *) ;
getch();

}

//*********************
void list1(void)
{




intt, r=0;
clrser() ;
title(&r) ;
forit = 0; t < MAX; ++1){
if(st_info[t].name[0] && st_info[t].mead < 12)
print(&r, t) ;
}/end of for
gotoxy(13, 1) ;

printf("******************************ll);
printf("*******************************ll) ;
gotoxy(27, r + 1) ;

printf('press any key to continue ") ;
getch();

}

//*********************

void list2(void)
{
intt, r=0;
clrscr() ;
title(&r) ;
for(t = 0; t < MAX; +4+1){
if(st_info[t].name[0] && st_info[t].mead >= 17)
print(&r, t) ;
Y/ end of for
gotoxy(13, ) ;
printf(ll******************************Il);
prinﬁ(ll*******************************") ;
gotoxy(27, r + 1) ;
printf("press any key to continue "} ;
getch();

}

/ de e v v o Je de o e e de ke ok ke de e ek ke ke
void title(int *r)
{
*r=2;
gotoxy(25, *r) ;
printf(" << information in list are: >>");
gotoxy(13, *r + 1) ;

printf(ll*************************ll).
printf(ll************************************II)
gotoxy(10, *r + 2);

printf("  name mead ')

printf("  unit number stno ");



YoF bylasle

gotoxy(10, *r + 3);

printf(" );

printf(" ";
*r = 6;

}

/ khkkdkkkkkhkkkkkhkhkkrkrhk

void print(int *r, int t)

{
gotoxy(14, *1) ;
printf("%s *, st_info[t].name) ;
gotoxy(26, *r) ;
printf("%.2f ¥, st_info[t].mead) ;
gotoxy(40, *r) ;
printf("%d ", st_info[t].unit) ;
gotoxy(54, *r) ;
printf(*%d ", st_info[t].number) ;
gotoxy(70, *r) ;
printf("%u ", st_info[t].stno) ;
(*r) ++ ;

}

;;’.'JJ’..
. << enter a student >>

. << delete a student >>
. << list the array >>
. << list for probation >>
. << list for exelent >>
. << quit >>
please enter your choice (1-6) :
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struct device {
unsigned active : 1 ;
unsigned ready : 1 ;
unsigned xmt_error : 1 ;
} dev_code ;
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dev_code, xmt_error

dev_code, ready
dev_code, acrive

struct

.dev_code jiiecuas, V-f JSi
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change clear to_send line °

change in data_set_ready \
trailing edge detected
change in recive line
clear_to_send
data_set ready
telephone ringing

< % & 4 -t =

received signal
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status_type {
unsigned delta_cts : 1 ;
unsigned delta dsr : 1 ;
unsigned tr_edge : 1 ;
unsigned delta_rec : 1 ;
unsigned cts : 1 ;
unsigned dsr: 1 ;
unsigned ring : 1 ;
unsigned rec line : 1 ;

} status ;
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status = get_port_status() ;
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struct emp {
struct addr address ;
float pay ;
unsigned lay off : 1 ;

unsigned hourly : 1 ;
unsigned shifted : 1 ;
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#include <string.h>
#include <conio.h>
#include <stdio.h>
void enter{char *, struct bdate *);
struct bdate {

unsigned int day :5;

unsigned int month :4 ;

unsigned int year :7 ;

&

int main ()

{
struct bdate birth, today ;
int age ;
char p1[40] , p2[40] ;
clrser() ;

strepy(p1, "enter birth date (day month year):");
strepy(p2, "enter today date(day month year) :");
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enter(p1 , &birth) ;
enter(p2 , &today) ;
if (today.month > birth.month ||
(today.month == birth.month &&
today.day > birth.day))
age = today.year - birth.year ;
else
age = today.year - birth.year -1;
printf("\n the age is %d year.", age);
getch();
return 0O;
}
//***********************
void enter(char *prompt, struct bdate *point)
{
unsigned int d, m, y;
printf("%s", prompt);
scanf("%d%d%d", &d, &m, &y);
point -> day = d;
point -> month = m ;
point -> year = y ;

SIS
enter birth date (day month year) : 12 11 50

enter today date (day month year): 26 12 78
the age is 27 year.
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union u_type {

int i;
char ch ;
float y ;
}
- Yy -
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#include <conio.h>
#include <stdio.h>
int main ()
{
union test {
inti;
char ch ;
float y ;
} un;
clrser();
printf("\n enter an integer number:");
scanf("%d", &un.i) ;
printf(" the value of i is :%d", un.i);
printf("\n enter a character "
un.ch = getche() ;
printf("\n value of ch is:%¢", un.ch);
printf("\n enter a float number :);
scanf("%f', &un.y) ;
printf(" the value of y is:%.2f", un.y);

getch();
return 0;
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printf("\n the size of union is:%d", sizeof(union test));
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enter an integer number : 43

the value of 1 is : 43

enter a character : f

the value of chis :

enter a float number : 23.65
the value of y is : 23.65

the size of union is : 4
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#include <conio.h>
#include <stdio.h>
int main ()
{
struct twoint {
int num1 ;
int num2 ;
b
union intflo {
struct twoint test ;
float flonum ;
} unex ;
clrscr();
printf(* size of union is : %d", sizeof(union intflo));
unex.test.numi = 564 ;
unex.test.num2 = -231 ;
printf("\n unex.test.num1=%d", unex.testnumi) ;
printf("\n unex.test.num2=%d", unex.test.num2) ;
unex.flonum = 45.76 ;
printf(\n unex flonum=9%.2f", unex.flonum) ;
getch();
return O;

;._5-’."4'5
size of union is : 4

unex.test.numt = 564
unex.test.num2 = -231
unex.flonum = 45.76
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unsigned int vari, var2 ;
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typedef unsigned int subint ;
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subint var1, var2 ;
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typedef char string [50] ;
string st, s2;
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char s1 [50], s2 [50] ;
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#include <conio.h>

#include <stdio.h>

int main ()

{
const int n = 5;
typedef unsigned int INT :
typedef int ARR[n] ;

ARR list1, list2 ;
INT i, sum =0 ;
clrscr();

printf("\n enter %d integers: *, n);
for i=0;i <n;i+s+)

scanf("%d", &list1[i]) ;
printf(\n enter %d integers agin: ", n);
for i =0 <n;i++)

scanf("%d", &list2[i]) ;
for (i = 0;i <nj;i++)

sum += list1fi] + list2[i] ;
printf(\n sum of two array is:%d", sum) ;
getch();
return O;

eI
enter Sintegers : 2 3 4 5 6

enter 5 integers again:7 6 4 3 2
sum of two array is : 42
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#include <conio.h>
#include <stdio.h>
struct date {
int day ;
int month ;
int year ;
}
typedef struct date DATE ;
typedef DATE *PTRDATE ;
int main() (
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DATE today ;

PTRDATE ptr ;

clrscr();

ptr = &today ;

ptr -> day = 27;

ptr -> month = 9 ;

ptr -> year = 1999 ;

printf("\n date is:%d", ptr->day);
printf("/%d", ptr -> month) ;
printf("/%d", ptr -> year) ;

getch();
return 0;
}
STI
date is : 27/9/1999
hyloab 031 glgil
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enum color { dat B
red, :
yellow,
brown
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enum color { T3 -3
red, BRI
yellow,
brown

};

enum color color1, color2 ;
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color1 = red ;

color2 = yellow ;

if (color1 == color2)
{

}
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#include <conio.h>
#include <stdio.h>
enum weekday { SAT, SUN , MON , TUE , WED , THU , FRI };
typedef enum weekday WEEKDAY;
WEEKDAY tomorrow(WEEKDAY);
int main ()
{
int hours ;
const float r1 = 1.2, r2 = 2.0;
float base, rate, wages = 0.0 ;
WEEKDAY day ;
clrscr();
printf("enter the basic hourly rate :") ;
scanf("%f", &base) ;
printf("enter the hours worked ");
printf(‘for saturday through friday:\n"); .
day = FRI ;
getch();
do {
day = tomorrow(day) ;
scanf("%d", &hours) ;
switch(day) {
case SAT :
case SUN :
case MON :
case TUE :
case WED :
rate = base; break ;
case THU :
rate = r1 * base; break ;
case FRI :
rate = r2 * base; break ;
}
wages += rate * hours ;
} while (day != FRI) ;
printf("\n total wages for the week is :%.2f", wages) ;
getch();
return 0;

}

/ kkkhkkhkhkhkkhkkkkhkkhkkkkhiks

WEEKDAY tomorrow(WEEKDAY d)

{
WEEKDAY nextd ;
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switch (d) {
case SUN : nextd = MON : break ;
case MON : nextd = TUE ; break ;
case TUE : nextd = WED ; break :;
case WED : nextd = THU ; break :
case THU : nextd = FRI ; break :
case FRI : nextd = SAT ; break ;
case SAT : nextd = SUN ; break ;

}
return(nextd) ;
}
u-’.JJ".'
enter the basic hourly rate : 120
enter the hourse worked
for saturday through friday : 7 6 9 12 5 7 5
total wages for the week is : 574.00
s yod

gola sLag, ohanss ol ol ol avles (6laar S5 o 5 olo oSy g Logs e AL 45 apiS iy 5 ozl
ole i i o)Lt

35 4551, Lo sleale J5 ledlot iagols plonil | (s 5 55 a5 aT olusly 45 0 iy lasLazslos f cshasl]
SlesSl laie au ) sle K i 5 0 )l LS QUWINTERIE Y E PRUERCIFIE S | o) R PRVSOC SR g PP I PRY - L
1S asbona )y oo T Jlo (shat 1 42838 sl it i

0925 e U D o e 14215 iy 5 S ol (s s ] el gl ol ey
h Slasles Gl Gl s LMol 48 gty glaaliyg 0l Jlo g ola gy polic g dnn o b Jald a8 5,80 Glazsle
ot ol 1 ol 5 s s ik ol 53358 1 5 s w309 8 a5 ] oy
ez gz G0 4t Sl (o 5 SN ilys- sl o 0 et o795 42 T U g Ao 6 ey

1923 plagthy 5 Jlael 45 dun gt (slaals

a8 iy ya5 gty Folgils ol g oU puaic g0 LNAME pb 4y SlazsLo (il

o b 0505 (51 (6 i 4 slul T NAMeE &9 i (Sleszbo oS Gy 5 polie il student b oy glazslu (o
A8l 058 dew 0nl (eSilee G2 i

S R0 ladely ol o g dns gy paie Loz g Student g 5ISt pb 4 slasl,T (2

323 L8l 55 euiles | Ll &l ad g aiS ol tolaidoniio 4 S b bl ol 50 925 caluol 4 dunnsgiy 25 (0
(225 N3 bogan Joxa 53 9 995 arlona 1 Silea)

Sy o795 ah bl pelie ples (o

Adleud (gilugie 4l (g

1599 S1a3l50) Semagts 25 €% 4 Lalonilom 999 9,5, 5 ealiss (s (slaaliyrucun jlg 3 b Yo (ghlo al8g 9

A

t




o had YVP

Wy Gy 39,8 iy 8,lad bl g5 ol 4 il uolie 45 0 iy o5 ezl 1 5 panic Yo (slaghT (il
S ge J ST, Wb oS (S plig ((JB =0 cond gyl n=Y)

S ol 55 slaan T ste (o

a3 plaull) g2a 13 39290 Slles ples (z

S slaal sl ol )
S5 slaslo bt abe ¥
0059555k 5 sl (Aules ¥
Leslon 4y 0l 8 0l yanass . f
olf9,% Wil 0,59051.0

T F

1 (V-F) 0S5 g 1) 093 bl

o ¥ by, o809, (b s S 208 sy 68098 (s slajly s g a5 0iS JulS (5 5l |, P (ape5 aaliy Y

shlo 4508 L35 a3 Gore 31 JB (5500 S5te il pslaza al sl (S QB g3 | Laelad) 0 o (g >

9b jalls 4ol ol (g9ie dlaaiy ¥ (il 5 Sy po QB il (s 59959 SWR3la 0 Y (57905 Sl Y 5 el a5 90
S50y 33 ) (2955 5 (539)9 Wil Sledlol wilgzy b asl was S




b 6

20509 05 d Ol s LT e pana (U iin 53 (lodid 428 5 0 S 48 yaaal Sl po (slansls
H o Wl LI RAM il 55 (S bzl s gl o) pann (sla ke Lilass S )13 2 jls
Lo o S Wled o 53 LT 534S sloesls caals 1 T2 3 (oS 048 2l L 5) 6 0L o b
e L 5 1 8 48 0 43 09 e IS add 45 552 350 0503 A il 1 sudams wslized (51
C)Ls::‘-Ladc)J¢J§..§..-a|e')‘5|ﬂ..b_l..;u..g_..l...j)lsj'ljgl)jsrlq.;ld.;)»&Lg‘c...«l‘séli_jc,.i,d_,;
JJ|J3“§..~L.>J.‘.Agﬂilq-&jl’g;_uj_u;bol..;;btf'wl.AJ:SJ-JlJ.'oe:u;ulaJr\‘},.UquJKJ_ahb
Lo g ol st wad B m O jor e b lor il (55 53 3 r g0 OB 3y 3 42 o K25 ook
...\.'.J;u‘)bjeau:wla)‘,‘kséli)'ow:q¢..\5_,JU.JJ:.!J'|J:,5@U|JLN;

0L g s el S by e slaesls dsle sl o2 4 kol e slaesls 5l las parea Jalo LG A
slaesls oL S, s e Ol e 45500 o675, 48, K (il ol ) 51 a6 by e cslaosls o€t
e 3555 o 31 (5145 yaua ¢ b 84S S 0 e W k3 e [ 35555 050 ST gl a4 Bopr e
#k@l%g&\;ﬂé::}wouuﬂ:rbﬁl:ﬂal{.:JbaL:ﬁ.:JhJqu_;g;;:rA_jlf;I
‘a)‘,S)g&(_;l_y_-ljlgiif«{....‘,wﬁfefjuJ.}IJ.lS«Su.:lAle;l.\d‘_,a,..:.ﬂarl.'.‘}:-s.\.ﬂgc.:l;m:
T el S gl pama 35S, S S e 11 02 ST AL

305 6 SKes (Il 5 Kl S amis (leamio e al&is ja Ll geoals LBC UL o
RIS R R PPN S HUEPRICPRE SR X GO P W PP

PR Y e UJ‘ SLSa SIS ok 4l o _UJJ = |lS4.v - blScLAn.)‘) A
B asliiad® s 1 Vo4 S e 5 v

.J.t).:aJL::MJuﬁblsj‘6‘@)Q)ygwo&uf&'b)éuﬁbl§j|6‘@)@)}.@4{“9)‘3 Y

‘LS"J-G)"U)-:‘°J';‘_)’.";‘J‘;dwlfwhl;‘c*:);u"l’-“;‘)li‘k}iudJJﬂQ:J)sC)’.'.")"L“""L’ .‘:
(6‘&)&6}5)&

.JS}J«JJ‘}:'-&_B)"OL‘::'-L»-Q_)J.«’4.3We.l..:A:*:‘,JJJ_U‘_SJ_)J{(DJ_,SJ)OL:SLJQQLAAJB R

.CA;M‘_,:L)‘J.;‘;«:)JJJJ)AJ?}Lﬁ‘).}ds.b‘eu\.:))h.‘cQLJJJML’ct’:éJ:))‘rj‘gL_JQLS‘JJ

. Sle Mol £93 53 51 Jalb glosl

Q..L.:,aﬁ_s-buz‘,)‘,:&_ll.adﬂl__..\’fd.ul.l‘;...l.\ P 6 3 S e 90 4y BB 5 ol S Laeots
- T e T )
Yk Q‘,L&J,{:.&J_l{ﬁj:)ly_,:‘huby
Ll TR I TS e e

‘

1. file 2. record 3.field 4.text 5. binary




pid Juad YA

bt gLl ons
BNIELCE= 0
ggm.f_bd))ﬁﬂ.\;\bv\.:a‘ni-.)aﬁ Y

~.~_____.._/"’/A
).MSU.:)yuLun.,a\.,\.p\‘_gfb‘}..b):d“,.byuaU.;-:LAJS\)\SJILS\MJu)).ou:LL;h ACBLg

Jb\ljubummt&m L5 8 o0 oD Kamsd S gt S o0 ol 3 abail~
oﬁbub\‘)éé.&ﬁgﬂdfbt}ab)bu}} ’J“JMWJ LS o

- ¢W|4@|W>M&Y09£9&;¢
oLl &..Ja‘g‘,)j_.u,\daf_;-:y):‘.L.Sdad.a;‘..i»bhﬁ-bbb«s‘_gjsbls‘&;-

‘W|g.,.9_,uﬂfjl~..ﬁu)b.\gJHSW\J‘.:J;J.LJM‘};J‘JL’qbbo.\.swa.aJ;ﬂ_)le.hLCR/LF
w|Lsfbdh&bjlfﬁwéb&b):ayyubﬁb\owﬂal.ﬂ
Jab s ble, 5 L) 90 4 50 w\g};béL@J&MﬁngbjwduL},bﬂ:uwl
JZBE:;JCJT:? 33 8 yasia U b aar 55 b B el 5355 g0 SIS e a5 G
~CTRL wd>|>,uujs|)sd|) W\JJL, st ..\..suw(\o L;L.,,a)'u,(\mt..,,a)_@

de‘ );)Y? li (\? L;L.?.o)a) 1A su¢ W‘ug*’ Sl U s Lol fL"’ J;_l: 3345 ga LgLn.:b aS ol
5 BB L 6 nl B s B Lt et o WAL LU sl Sl a5 BBl G (Ve
» ol CJJL&'.A

999 o' ' o'

132.844 [v]e]2]: s} o]

aldl> jo olucl o JoB jo olasl

.@BJ&&*GJJQL&M‘UJ&OJPJEP@GA AN JS.JJ

1. Carriage Return Line Feed




d._,_u ol )'l.m

\_,‘,,.....,w-—‘ 4 e inram T

13 0 g0 wlaj‘);bub_)u_,au‘}a:
(random) sslas LU ol sl .Y (seqenital) .5 5 LBOLL .\
S — e e ———— W

(&_AJAJAJ,S@)!JAJ;UJJ.L_,M@ )| 'L;;J)JJIASWJ»QL.A«.LA:))SJ‘wj&bdb)b)a
J;l:.sj_,sjw.aujﬂdl.‘j‘,.;u .L‘,.fu..)b,eu,.«)jaj_,»Ma@ay:&l:ﬁéijMA“JLJb
1 Y gancn i 5 (U ol 5 kil o 0T 31 35555588 il oS )13 s 558 T
O bl 5 (o8 n S5 0linl 355003, 5S5 st Lt Ol g 41 45 ol (Sl (S A izn S Al
et O SLS 3y a3 gty il et e gl 3 g 3 cJUie O g5 4 A=Y JS2) ety o 5 e
f‘-«a—)‘o_)l.«_a&é)jj)‘)_hb‘u.ﬁél.@JabQL-JL.:)) Ll a3 b el (gl et Wb (g )lS
bdbb):Lg:)_,SJASu.s‘, .L.aulydjlﬁo)wnb\ju:)_,s) SASU 3, ,55,m ghls L6 ST el e
W))‘ﬁLb)‘MMLS‘w)J‘OM‘Mﬁ)J{J'&Lyd“}aA “Tlﬁffﬂwb
-mb |.>.>J:-J‘;}JL.¢J‘_}J}J)J.)“,J‘;«JQ_QJL‘J.LK-LL}L))}S)J)UJyw‘)Diﬁ(
e.x_.l‘,_-,-o\)l‘)._s(;b:))_?)&l._;J,b)ajsu...fﬂaolﬂ:;)ﬁ)ﬁoguwwu’:@&b

. a3 a gl ol LB Sl I gai AT S (W 52
oy | e Egdee Pl P plebdosled
20 PASCAL ALl 12
15 PASCAL AHMAD 23
18 PASCAL REZA 34
20 C JAFAR 56 b

A K sl A-Y JSb

8 yod )0 E9oee pU bbb oylad | 9,5, 0 )led
20 PASCAL ALl 12 13
20 C JAFAR 56 20
15 PASCAL AHMAD 23 24
18 PASCAL REZA 34 31

ctobead Lol 3 slosas AT JSad




o Joad  YYo

JB oI ,5L

u.a.&._:.n‘)iUQAJSJ'L._.HJJASL;JJIH.U_.Z)'L_,J.:Q‘:J;J\JSaaL&:.J.:)_,,o.ub:._.«SCﬂl_le,ZJ._».UJA
T T en) o

: e‘_tJL‘ s

V7]

{'.ALw‘f)fd‘).ﬁd.aJﬂd)la‘cw‘d)_,)}u‘).&b.]aﬁ:‘};bbnf_,f LS’JJJJ“"J‘J"L’CJ‘ .T"

(Q;-‘,_,»ul).;orb;wld;))_,ulyor

B Jbl_ou...»u‘.x...b)la.-olL;,)J.»ub)\blwy‘}‘;hsdayﬂd_)_,bw|g§~d;b&
MUMLj.LQLL‘Q‘)‘ub%‘Q.U)’J.;.hu«s::;)b‘sJ,\oJ;U;| ’J"‘u""“gu‘"}f”'
2 A2l Slone 0T 505 1 OBl (22 5 Jas o 5355 5L (55 b B 81 "J*‘u"‘*‘gG’JJJJ‘L"ULL’
wbls 542 s I3 LG 8 Dy n S oy B (53959 hU ‘_,Ll:w’u‘gl)lub)kbluxb»w
o.sl.q._..,lfopen()cl_;)h.}il_;g:‘,s T K _,Ju.am.!jg\ul._.ou\;)\.lal‘»;)l.gfjfub.;q‘,.\.‘lﬁ

25 S 4 515 me 43 b5 5 3stdioh JiU_).uS@U ot S

FILE *fopen (char *filename *mode)
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FILE *fp; )]
fp = fopen ("Aiest’, "w") ; )
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if ((fp = fopen ('Atest', "w") == NULL {

T printt{*canrniot 6pen file \n') ;
exit (0) ;
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int fclose (FILE *fp)
e
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fcloseall() ;
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int getc (FILE *fp)
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int feof (FILE *fp)
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#include <stdio.h>

#include <stdlib.h>

#include <conio.h>

Ridlic,

FILE *in, *out ;
char ch;
clrser();
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in = fopen(‘test.dat’, "w");
it (lin) {
~ printf(*cannot open file\n");
‘getch();
_exit(1);
e
printf("\n enter characters($ for end):"); i Co
do { ‘
ch = getchar();
putc(ch, in);
} while(ch 1= '$");
fclose(in);
out = fopen("output.dat’, "w");
if(fout) {
printf("cannot open out file");
getchy);
exit(1);
}
in = fopen(test.dat","r");
if(tin) {
printf("can not open input file");
getch();
exit(1);
}
ch = getc(in);
while(ch |= EOF) {
putc(ch, out);

ch = getc(in);-
}/en ile
fclose(in);
fclose(out);
printf("\n file test.dat transfered to output.dat.”);
getch();
return O;

eI

this Is a sample file .
this is a text file .
text file is slow .

end of file .
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#include <stdio.h>

#include <stdlib.h>

#include <conio.h>

int main(int arge, char *argv[])

{

FILE *in ;
char ch;
int openbraket = 0, closebraket = 0;
int openparant = 0, closparant = 0;
clrscr();
if(argec 1= 2) {
printf("the number of arguments is incorrect.");
getch();
exit(1);
}
in = fopen(argv[1],"r");
if (tin) {
printf(" file cannot open!.");
getch();
exit(0);
}
ch = getchar();
while (!feof(in)) {
if ch == "{’)
openbraket ++ ;
else if (ch == "})
closebraket ++;
else if (ch == ()
openparant ++;
else if (ch == "))
closparant ++;
ch = getc(in);
}
printf(" the number of open braket is:%d", openbraket);
printf("\n the number of close braket is:%d", closebraket);
printf("\n the number of open parentheses is:%d", openparant);
printf("\n the number of close parantheses is:%d", closparant);
fclose(in);
getch();
return O;
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the number of open braket is : 37
the number of close braket is : 37

the number of open parantheses is : 177 .
the number of close parantheses is : 177
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int fputs (const char *str, FILE *fp)
“Char *fgets (char *str, mt Iength FILE *fp)
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fp1 = fopen (‘testdat', "w+b") ; » - ———
fp2 = fopen ('sample.dat' , "r+b") ; "

fp3 = fopen (‘test2.dat', "a+t") ; ")
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#include <stdio.h>

#include <conio.h>

#include <stdlib.h>

#include <string.h>

int main(void) {

FILE *fp. ;

char {str[80];

cirser();

if(l{fp = fopen(“test','"w+"))) {
printf("cannot open file.") ;
getch();
exit(1);

}

printf("enter strings(Enter to quit):\n");

while (1) {

-+ gets(str);

~--
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if(!str[0])
break ;
strcat(str,"\n");
fputs(str, fp);
}
printf(‘the content of file is:\n\n");
rewind(fp);
fgets(str, 79, fp);
while (!feof(fp)) {
printf("%s", str);
fgets(str, 79, fp) ;
}
felose(fp);
getch();
return 0;

SIS
enter a string (Enter to quit) :

<< top of file >> (e JB S enie G b slet sl )
this is an example for
read/write file .

<< bottom of file >>

the content of file is :

<< top of file >> (Srlodd Jaa omy - 4y 48 (220 B 535 4o g o2a)
this is an example for

read/write file .
< <bottom of file >>
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#include <stdio.h>
#include <conio.h>
#include <stdlib.h>
#include <string.h>
#define TAB SIZE 8
#define OUT 1
#define IN 1
void err(int) ;
int main(int argc , char *argv[])
{
FILE *in, *out;
int tab, i ;
char ch ;
cirscr();
if(arge != 3){
printf("\n incorrect number of parameters") ;
getch() ;
exit(1) ;
}
in = fopen(argv[1] , "r");
out = fopen(argvi2] , "wb") ;
if (lout) {
printf("\n cannot open output file.") ;
getch() ;
exit(1) ;
}
tab = 0;
do {
ch = getc(in) ;
if (ferror(in))
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err(IN) ;
ifch == "\t') {
for (i=tab; i < 8 i++) {
putc( ', out) ;
if (ferror(out))
err(OUT) ;
} /lend of for
tab = Q;
} //end of if
else {
putc(ch , out) ;
it (ferror(out))
err(OUT) ;
tab ++ ;
if (tab == TAB_SIZE || ch == "\n’ || ch == \r")
tab = 0;
}/end of else
} white (Yfeof(in)) ;
fcloseall() ;
printf("Successfuly changed!");
getch();
return 0;

}

//************************

void err(int eror)

{
if (eror == IN)
printf("\n error on input file. press a key ...");
getch() ;
exit(1);
}

J2stdioh BLs 5 @U o2 5550 .58 s3lizwt remove() b0l Sos o b s Jl Gds (61
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int remove(char *filename)
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{

#include <stdio.h>
#include <stdlib.h>
#include <conio.h>
#include <ctype.h>
int main(int argc, char *argv[])

char ans;
clrscr();
if(argc != 2) {
printf(" you must type a file namel\n") ;
getch();
exit(1) ;
} /lend of if
printf(* erase %s (y/n):", argv{1]);
ans = getch();
if(toupper(ans) == ’Y’)
if(remove(argv(1]))
printf("\n can not erase file %s.", argv[1]);
else
printf("\n file successfully erased.");
getch();
return 0O;
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int fflush (FILE *fp)
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int fprintf(FILE *fp, "*control_string,..." , char arg, ...
int fscanf(FILE *fp, “control_string,...", char arg, ...)

3.0 gl LU 4 605 il il 55l Jleel 35 o asitio a8 el (580 L3 o3 55 (5l S0
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#include <stdio.h>
#include <stdlib.h>
#include <conio.h>
#include <string.h>
int main(void)
{
FILE *fp;
char name[80];
int num;
if((fo = fopen(‘test’, "w")) == NULL) {
printf(*can not open file for write");
getch();
exit(1) ;
}
clrscr();
printf(* enter the name :");
gets(name);
strcat(name, "\n");
printf(" enter the number:") ;
scanf("%d", &num);
fprintf(fp,"%s%d", name, num) ;
fclose(fp) ;




iid Juad  YYY

if((fp = fopen(‘test’, "r")) == NULL) {
printf(‘can not open file for read.");
exit(1);
}
fscanf(fp, "%s%d", &name, &num);
printf("\n name = %s, number = %d", name, num);
getch();
return 0;

SIS
enter the name : ali

enter the number : 1234
name = ali , number = 1234

bi;,.ﬂlouicl:.,awlb.L,:,—_,Jst;:,”&;ﬂ(..éj:l.sASc.,Mua_‘,:J.ll{fscanf()prrintf() C{“,}'.}))A)J
Y aSYPV sae (e Ol e s 3 S a0 eotd Bl 5o L sl o ol loldamins 534S ) g Slea 4 LN
rsjf&ai.(é_,-:aoﬁésc,e_la_}))).U‘j‘!a‘,g;.g‘c:wé.\;&.;\‘;vb&dﬁ)‘é@j))ﬁ.\.ﬂ'fJU;.:‘
b S Lo o8 0ty Ll (54, 5l fscanf() cl:hu)::.x;cﬁlﬁl.;aﬁu..ojl:ﬁl)&o)yq
Jé)"déﬁwé%‘}i&w‘)‘dﬁsjlg-6‘_).3.w‘@;dﬁrwdbxggb)ﬂéu\;q‘;s‘)ls

.:a;uu:..»l ..\J‘,.:«u.c J.‘)ﬂ‘_}.a_’aw)adfwrite()_,fread() CU

30950 52903 59909

b 52 il s sy B o 2= 52009 Jlesl planil 61 5305 il 95 i3 S edalie 5 SE S ) lailea
WS B ) slie slge B Ly lansls 51 s ¢l 9 O3l 5 22 55 61 fscanf() 4 fprintf()
St 33 55 03l T 51 g5 o 55 48 AU 105 455 1 oS ot e S D g ot i I 0l g e
ool fwrite() 4 fread() s oo 51 OV 55 o0 o m g 2 = ($2000 il (eizead 525550 (35— 2000
:.u,:.u,o,ﬂ,-6m,ﬂq,u|>)|;stdio.hJ,_u,gc,\,-;,_ld,m I O PR N PRI DL

int fread (void *buffer, int num_byte, int count, FILE *fp)
int fwrite(void *buffer, int num_byte, int count, FILE *fp)
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char table [20] ; m

char arr [10] ; )
fwrite (table, sizeof (char), 20, fp) ; )
fread (arr, sizeof (char), 10, fp) ; \#)
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#include <stdio.h> ERVY i

P o
#include <stdlib.h> Jb e | P

#include <conio.h> S piia | NUMStr
#include <string.h> S yuita |

int main() { 355 dpuloes Wl 45w IS 34i> | Salary
FILE *p;
char numstr[10];
int i, salary ;
struct em {
char name [10] ;
int hp;
int h;
} emp;
clrser() ;
p = fopen("employ.dat’, "wb+") ;
if (!p) {

printf(*cannot open output file, press a key ...") ;
getch() ;
exit(1) ;




gotoxy(14, 2);
puts("<< data entry >>");
gotoxy(3, 3) ;
printf(" name
gotoxy(3,4) ;
pAntf(*-weemee e e )
i=5;
while (1) {

gotoxy(3, i) ;

gets(emp.name);

if('emp.name[0])

break ;

gotoxy(21, i) ;

gets(numstr) ;

emp.hp = atoi(numstr) ;

gotoxy(34, i);

gets(numstr) ;

emp.h = atoi(numstr) ;

i++ ;

fwrite(&emp,sizeof(struct em), 1, p);
} //lend of while
rewind(p) ;
clrscr();
gotoxy(7, 2) ;
puts(* << OUTPUT >> "} ;
gotoxy(3,3) ;

hour pay hour ") ;

puts(* name salary *);
gotoxy(3,4);
puts(Me--reeme e ";

1=9;
fread(&emp , sizeof(struct em), 1, p);
while(lfeof(p)) {
gotoxy(3,i) ;
puts(emp.name);
gotoxy(21,i) ;
printf("%d", emp.hp*emp.h} ;
i++ ;
fread(&emp,sizeof(struct em),1,p);
}
gotoxy(6, ++i) ;
puts(‘press a key ...");
getch() ;
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<< data entry >>
name hour pay hour
ali 120 100
reza 500 50
ahmad 200 10
<< outpot >>

name salary
ali 12000
reza 25000
ahmad 2000
press a key ...
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#include <stdio.h>
#include <stdlib.h>
#include <conio.h>
#include <string.h>
#include <ctype.h>
#define SIZE 100
struct student {
char name [10] ;
int stno, sex ;
float grade ;
} list[SIZE] ;
int menu(void) ;
void init_list(void) , enter(void) ;
void display(vold) , save(void) ;
void load(void) ;
int main() {
init_list();
for(;) {
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switch(menu()) {
case 'e”: enter(); break;
case 'd: display(); break :
case 's’ : save() ; break;
case 'I' : load() ; break ;
case 'q: exit(0) ;

}/end of switch

} //end of for

}

//**********************

void Init_list(void)

{
register int t;
for t = 0;t< SIZE ; t++)
*(list[t].name) = "\O’ ;
}

//***********************

void enter(void)
{
register int i ;
int row ;
char numstr[10];
for(i = 0; i < SIZE; i++)
if (I(*list[i].name))
break ;
if(i == SIZE) {
printf("\n list is full press a key ..") ;
geteh() ;
}
clrser() ;
gotoxy(10, 2) ;
puts(*<< INPUT DATA >>");
gotoxy(1, 3) ;
printf("  name stno gread
gotoxy(1,4) ;
puts (" ------- e
row = 5 ;
for(;;) {
gotoxy(1, row);
gets(list[i].name);
if(! (*list[i].name))
break ;
gotoxy(16, row);

sex(1, 2)" ) ;




gets(numstr) ;
list[i].stno = atoi(numstr) ;
gotoxy(28, row) ;
gets(numstr) ;
list[i].grade = atof(numstr) ;
gotoxy(40, row) ;
gets(numstr) ;
list[i].sex = atoi(numstr) ;
row ++ ;
i ++;
}

}

//***********************

void display(void)
{
register int t ;
int row ;
clrser() ;
gotoxy(10, 2) ;
puts("<< OUTPUT DATA >> ") ;
gotoxy(1, 3) ;

printff(" name stno grade sex(1,2)") ;
gotoxy(1, 4);

printf(*------ - )

row =5 ;

fort = 0;t < SIZE ; t++)
if(*list[t).name) {
gotoxy(t, row) ;
printf("%s", list[t].name);
gotoxy(12, row) ;
printf("%d", list[t].stno);
gotoxy(20, row) ;
printf("%5.2f", list[t].grade) ;
gotoxy(30, row) ;
printf("%d", list[t].sex) ;
row ++ ;
} /lend of if
gotoxy(5, row+2);
printf(" press a key ...");
getch() ;
}

//***********************

void save(void)
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FILE *fp ;
register int i ;
fp = fopen('st’, "wb");
if('fp) {
printf("\n cannot open file press a key ...");
getch() ;
return ;
}
fori = 0;i < SIZE ; i++)
if(*list[i].name)
fwrite(&list[i], sizeof(struct student), 1, fp) ;
clrser() ;
gotoxy(20, 10) ;
printf("data saved.press a key.");
getch() ;
}

//************************

void load(void)
{
FILE *fp ;
register int i ;
fp = fopen('st", "rb");
if('tp) {
printf("\n cannot open file press a key ...");
getch() ;
return ;

}
init_list() ;
fori = 0;i < SIZE ; i++) { »
fread(&dlistfi], sizeof(struct student), 1, fp);
if(feof(fp)) {
clrser() ;
gotoxy(20,10) ;
printf("data loaded.press a key.");
getch() ;
return ;
Hiend of if
}
}

//*****************

int menu(void)

{
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char s[10] ;
clrscr();
do {
gotoxy(20, 4);
printf("E) enter data ");
gotoxy(20, 6);
printf("D) display on screen");
gotoxy(20, 8);
printf("L) load file");
gotoxy(20, 10);
printf("S) save in file");
gotoxy(20, 12);
printf("Q) quit");
gotoxy(20, 14);
printf("enter your select:");
gets(s) ;
} while(Istrchr("edlsq", tolower(*s)));
return tolower(*s) ;
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| syserr() | I get_master_record | | get_transaction_record ”do_initial_statusJ
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# include <stdio.h>
# include <conio.h>
# include <string.h>
# include <stdlib.h>

# define READONLY r
# define WRITEONLY "w"
# define FALSE 0

# define TRUE 1
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typedef int boolean;
# define NAMESIZE 21

# define SUBJECTSIZE 11

# define TRAILER 9999

# define INSERT T

# define DELETE D

# define CHANGE 'C’

char *prog;

FILE *fopen();

boolean get_transaction_record(FILE *fp, int *identification,
char *transaction, char *name, char *subject,int *grade);

boolean get_master_record(FILE *fp,
int *identification, char *name, char *subject, Int *grade);

boolean put_master_record(FILE *fp,
int identification,char *name,char *subject,int grade);

void apply_transaction(boolean *allocated,
int tran_identification, char tran_transaction, char *tran_name,
char *tran_subject,int tran_grade, int *new_identification, char *new_name,
char *new_subject, int *new_grade);

void do_initial_status(int current_key,
boolean *allocated,FILE *fp, int *old_identification,
char *old_name, char *old_subject,int *old_grade,
int *new_identification, char *new_name, char *new_subject,
int *new_grade);

void do_final_status(FILE *fp,boolean allocated,
int identification,char *name, char *subject, int grade);

void copy_corresponding(int *dest_identification,char *dest_name,
char *dest_subject, int *dest_grade, int sou_identification,
char *sou_name, char *sou_subject, int sou_grade);

void syserr (int errcode, char *message, char *argument);

void error (char code, char *message, int id);

void main(int argc, char *argv(])
{
char b[21], c[11];
int &, d, current_key;
FILE  *fpold,*fptrans,*fpnew;
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boolean allocated,;
char  tran_transaction;
int old_identification, tran_identification, new_identification;
char  old_name[NAMESIZE], tran_name[NAMESIZE], new_name[NAMESIZE];
char  old_subject{SUBJECTSIZE], tran_subject[SUBJECTSIZE],
new_subject[SUBJECTSIZE];
int old_grade, tran_grade, new_grade;
clrser();
prog = argv[0];
if(argc !=4) syserr(1, "usage:%s file1 file2 file3\n", prog);
else if((fpold = fopen(argv[1], READONLY)) == NULL)
syserr(2, “cannot open %s\n",argv[1]);
else if ((fptrans = fopen (argv[2], READONLY)) == NULL)
syserr(2, "cannot open %s\n", argv[2]);
else if (( fpnew = fopen (argv[3], WRITEONLY)) == NULL)
syserr(2,"cannot open %s\n", argv[3]);
else
{
get_master_record(fpold, &old_identification,
old_name, old_subject,&old_grade);
get_transaction_record(fptrans, &tran_identification,
&tran_transaction, tran_name,tran_subject,
&tran_grade) ;
current_key = tran_identification < old_identification ?
tran_identification : old_identification;
while(current_key 1= TRAILER)
{
do_initial_status(current_key, &allocated,
fpold, &old_identification, old_name;old_subject,
&old_grade, &new_identification,
new_name, new_subject, &new_grade);
while(current_key == tran_identification)
{
apply_transaction (&allocated, tran_identification,
tran_transaction,tran_name, tran_subjecttran_grade,
&new_identification,new_name, new_subject,&new_grade);
get_transaction_record(fptrans, &tran_identification,
&tran_transaction, tran_name, tran_subject, &tran_grade);
}/end of while
do_final_status (fpnew, allocated,
new_identification, new_name, new_subject,new_grade);
current_key=tran_identification < old_identification ?
tran_identification : old_identification ;
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}//end of while
copy_corresponding(&new_identification, new_name,
new_subject, &new_grade, 9999,
"z2z772777777777772727", "7222772227", 9);
put_master_record(fpnew, new_identification,
new_name, new_subject, new_grade) ;
fcloseall();
printf("\n file new successfully created.\n press a key to continue...");
getch();
}
}

/ kkkhhkhhhkhdhkhikhhidkkhhdkir

boolean get_transaction_record(FILE *fp, int *identification,
char *transaction, char *name, char *subject,int *grade)

{
if (fscanf (fp,"%4d%c%20s%10s%2d",
identification, transaction, name, subject, grade) == 5)
return(TRUE);
return(FALSE); -
}

//************************

boolean get_master_record(FILE *fp, int *identification,
char *name, char *subject, int *grade)

{
if (fscanf (fp,"%4d%20s%10s%2d",
identification, name,subject,grade)==4)
return(TRUE);
return(FALSE);
}

/ dekkkkkhkkhhhhkhkhhhkkihikk

boolean put_master_record(FILE *fp, int identification,
char *name,char *subject,int grade)
if(fprintf(fp, "%6d %-20s %-10s %2d\n",
identification, name, subject, grade) != EOF)
return(TRUE);
return(FALSE);

}

/ KRKREKXKEXKRXRKRRKRIRKEXER R ARk hkk

void apply_transaction(boolean *allocated,
int tran_Identification, char tran_transaction,
char *tran_name, char *tran_subject,int tran_grade,
int *new_identification, char *new_name,




char *new_subject, int *new_grade)
{
switch(tran_transaction) {
case INSERT:
if(*allocated == TRUE)
error(INSERT, "record already exists\n",
tran_identification);
else {
copy_corresponding( new_identification,
new_name, new_subject, new_grade,
tran_identification, tran_name,tran_subject, tran_grade);
*allocated = TRUE;
}/end of else
break;
case DELETE:
if(*allocated == FALSE)
error(DELETE, "record dose not exist.", tran_identification);
else
*allocated = FALSE;
break;
case CHANGE:
if(*allocated == FALSE)
error(CHANGE, "record dose not exist.", tran_identification);
else
copy_corresponding( new_identification,
new_name, new_subject, new_grade,
tran_identification, tran_name,tran_subject, tran_grade);
break;
}/end of switch
}//end of function
//********************************
void do_initial_status(int current_key,
boolean *allocated,FILE *fp, int *old_Identification,
char *old_name, char *old_subject,int *old_grade,
int *new_identification, char *new_name,
char *new_subject, int *new_grade)
{
if(*old_identification == current_key) {
copy_corresponding(new_identification, new_name,
new_subject, new_grade, *old_identification,
old_name,old_subject, *old_grade);
*allocated = TRUE;
get_master_record(fp, old_identification,
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old_name, old_subject, old_grade) ;
} //end of if

else

*allocated=FALSE;

}

/ kR hkhkkdkkhkhkhkhkrkkkhkkkkik

void do_final_status(FILE *fp,boolean allocated,
int identification,char *name, char *subject, int grade)
{
if(allocated)
put_master_record(fp, identification, name, subject, grade) ;

}

//******************************

void copy_corresponding(
int *dest_identification,char *dest_name,
char *dest_subject, Int *dest_grade, int sou_identification,
char *sou_name, char *sou_subject, int sou_grade)
{ .
*dest_identification = sou_identification;
strcpy(dest_name, sou_name);
strepy(dest_subject, sou_subject);
*dest_grade = sou_grade;,

}

//*********************

void syserr (int errcode, char *message, char *argument)
{

fprintf(stderr,"%s[%2d]:", prog, errcode);

fprintf(stderr, message, argument);

exit(errcode);

}

/ kkhkkkkkhkkkhkhkkk

void error (char code, char *message, int id)

{
printf("%c  %30s %4d\n', code, message, id);
}
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(K3 59, 28-10.cpp) Jolab o6 (553l Labl o]
#include <stdlib.h>
#include <string.h>
#include <conio.h>
#include <stdio.h>

#define READONLY "r
#define UPDATE r+"
#define FALSE 0
#define TRUE 1

typedef int boolean;
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# define NAMESIZE 21
# define SUBJECTSIZE 1
# define TRAILER 9999
# define ABSOLUTE 0
# define PRIME 17
# define INSERT '’

# define DELETE D
# define CHANGE C
# define ERROR -1
# define ABSENT 0
# define OCCUPIED il

# define UNOCCUPIED v
typedef struct {
int identification ;
char name[NAMESIZE] ;
char subject[SUBJECTSIZE] ;
int grade ;
} RECORD ;
typedef struct {
char type ;
RECORD student ;
} TRANSACTION ;
typedef struct {
char occupied ;
RECORD student ;
} MASTER ;
char *prog ;
boolean get_transaction_record(FILE *fp, TRANSACTION *transaction);

int read_master_record(FILE *fp, int relative_record_number,
MASTER *master);

int write_master_record(FILE *fp, Int relative_record_number,
MASTER *master);

int get_master_record(FILE *fp, int key, MASTER *master);
int put_master_record(FILE *fp, int key,MASTER *master);
Int choose_next_key(int identification);

int address(int key);
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void apply_transaction(boolean *allocated, TRANSACTION *transaction
MASTER *master);

int do_initial_status(int current_key,
boolean *allocated, FILE *fp, MASTER *master);

void  do_final_status(FILE *fp, int relative_record_number,
boolean allocated, MASTER *master);

vold copy_corresponding(RECORD *destination, RECORD *source);
void syserr (Int errcode, char *message, char *argument);

void error (char code, char *message, int id);

void main(int argc, char *argv(])

{

FILE *fpmas,*fptrans ;
int current_key , relative_record_number ;
boolean allocated;
TRANSACTION transaction:;
MASTER master ;
clrscr();
prog = argv[0];
if(argc != 3)
syserr(1, "usage: %s file1 file2 *, prog);
else if((fptrans=fopen (argv{1], READONLY)) == NULL)
syserr(2, “cannot open %s\n", argv[1]);
else if((fpmas=fopen (argv[2], UPDATE)) == NULL)
syserr(2, "cannot open %s\n", argv[2]);
else
{
get_transaction_record(fptrans, &transaction) ;
current_key = choose_next_key(transaction.student.identification);
while(current_key != TRAILER)
{
relative_record_number = do_initial_status(
current_key,&allocated, fpmas,&master);
while(current_key == transaction.student.identification)
{
apply_transaction (&allocated, &transaction,&master) ;
get_transaction_record(fptrans, &transaction);
}

do_final_status (fpmas, relative_record_number, allocated, &master);
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current_key = choose_next_key(transaction.student.identification);
} //end of while

fcloseall();
} //lend of else

}

//**************************
boolean get_transaction_record(FILE *fp, TRANSACTION *transaction)
{
if (fscanf (fp, "%4d%c%20s%10s%2d",
&transaction -> student.identification,
&transaction -> type,
transaction -> student.name,
transaction -> student.subject,
&transaction -> student.grade) == 5)
return(TRUE);
return(FALSE);
}

/ kkkhkkkkhkkkhkkhkhkhkhkikhkx

int read_master_record(FILE *fp,
int relative_record_number, MASTER *master)

{
if(fseek(fp, (long) relative_record_number
*sizeof(MASTER), SEEK_SET) !=0)
return(ERROR) ;
else if(fread((char *)master, sizeof(MASTER), 1, fp) I= 1)
return(ERROR) ;
else

return(relative_record_number) ;

}

/ KAKKRERKARKKAAKRRR AR RARkhhhk

int write_master_record(FILE *fp,
int relative_record_number, MASTER *master)

{
if(fseek(fp, (long) relative_record_number
*sizeof(MASTER), ABSOLUTE) 1= 0)
return(ERROR) ;
else if(fwrite((char *) master, sizeof(MASTER), 1, fp) I= 1)
return(ERROR);
else
“return(relative_record_number) ;
}

//**********************

int get_master_record(FILE *fp, int key, MASTER *master)




{
int k, relative_record_number ;
relative_record_number = address(key) ;
forlk = 0 ; k < PRIME ; k++)
if(read_master_record(fp,
relative_record_number,master) == ERROR)
return(ERROR) ;
else if(master -> occupied == UNOCCUPIED)
return(ABSENT) ;
else if(key== master->student.identification)
return(relative_record_number) ;
else
relative_record_number=relative_record_number==PRIME ?
1 : relative_record_number+1 ;
return(ABSENT);
//}************************
int put_master_record(FILE *fp, Int key,MASTER *master)
{
int k , relative_record_number ;
MASTER temp_master ;
relative_record_number=address(key);
for(k=0 ; k<PRIME ; k++)
if(read_master_record(fp,
relative_record_number,
&temp_master)==ERROR)return(ERROR);
else if
(temp_master.occupied==UNQOCCUPIED)
return(write_master_record(fp,
relative_record_number,master));
else if(key==
temp_master.student.identification)
return({write_master_record(fp,
relative_record_number,master));
else
relative_record_number=
relative_record_number==PRIME ? 1
. relative_record_number+1 ;
syserr(20,
“"overflow in:%s\n","masterfile"} ;
return O;

}

//**********************
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int choose_next_key(int identification)

{
return(identification) ;

}

//****************

Int address(int key)

{

return(key % PRIME + 1);

}
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void apply_transaction(boolean *allocated,
TRANSACTION *transaction, MASTER *master)
{
switch(transaction -> type)
{
case INSERT:
if(*allocated==TRUE)
error(INSERT, ‘record already exists\n",
transaction-> student.identification);
else
{
copy_corresponding( &master -> student, &transaction -> student);
*allocated=TRUE;
}
break;
case DELETE:
if(*allocated==FALSE)
error(DELETE, "record dose not exist\n", transaction->
student.identification);
else
*allocated=FALSE;
break;
case CHANGE:
if(*allocated==FALSE)
error(CHANGE, ‘“record dose not exist\n", transaction->
student.identification);
else
copy_corresponding(&master -> student, &transaction -> student) ;
break;
}
}

//********************
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int do_initial_status(int current_key,

boolean *allocated, FILE *fp, MASTER *master)
{

int relative_record_number ;
*allocated = FALSE;

relative_record_number = get_master_record(fp, current_key, master) ;
if(relative_record_number != ABSENT)

*allocated=TRUE;
return(relative_record_number);

}

//*********************

void do_final_status(FILE *fp, int relative_record_number,
boolean allocated, MASTER *master)
{

if(allocated==TRUE)
{

if(relative_record_number != ABSENT)
r

master -> occupied=0OCCUPIED ;

if(write_master_record(fp, relative_record_number, master)==ERROR)
syserr(21,"error writing %s\n", "master record") ;

}

else

{

master -> occupied=OCCUPIED ;

put_master_record(fp, master -> student.identification, master) ;

}
}

else

{ R
master -> occupied=UNOCCUPIED ;

if(write_master_record(fp, relative_record_number, master)==ERROR)
syserr(22, "error writing %s","'master record");

}
}

//*********************

void copy_corresponding(RECORD *destination, RECORD *source)
{

destination ->identification=

source -> identification;

strcpy(destination -> name, source -> name);
strcpy(destination -> subject, source -> subject);
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destination ->grade=source -> grade;

}

//********************

void syserr (Int errcode, char *message, char *argument)
{
fprintf(stderr,"%s[%2d]:",prog, errcode);
fprintf(stderr,message,argument);
exit(errcode);

}
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vold error (char code, char *message, int id)

{
printf("%c  %30s  %4d\n",code, message, id);
}
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putc (ch, stout) ; )]
printf (stout ,"%d, %d" , a, b) ; )
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main () {
int *p ;
p = fopen (“test.dat’) ;
for(I=0;1<50;1++)
fputs (fp, “this Is a test.”) ;
fclose (p) ;
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int abs (int num)
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double acos (double arg)
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#include <conio.h>
#include <math.h>
#include <stdio.h>
void main()
{
double val = -1.0;
clrscr();
do {
printf(‘arc cosine %.2f is: %.2f\n" ,val, acos(val));
val += 0.1;
} while(val <= 1.0);
getch();
}

asin() at
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double asin (double arg)
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#include <conio.h>
#include <math.h>
#include <stdio.h>
#include <conio.h>
#include <math.h>
#include <stdio.h>
void main()
{
double val = - 1.0;
clrser();
do {
printf("arc sine of %f is %f\n" val,asin(val));
val +=0.1;
} while(val <= 1.0);
getch();
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atan() G
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double atan (double arg)
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#include <conio.h>
#include <math.h>
#include <stdio.h>
void main() {
double val = -1.0;
clrscr();
do {
printf("arc tangent of %f is %f\n* , val, atan(val));
val += 0.1;
} while(val <= 1.0);
getch();
}

atan2() st
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double atan2 (double y, double x)
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#include <conio.h>
#include <math.h>
#include <stdio.h>
void main() {
double y = -1.0;
clrser();
do {
printf("atan2 of %f is %f\n", y, atan2(y, 1.0));
y += 0.1;
} while(y <= 1.0);
getch();

}
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struct complex {
double x, y ;

}
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complex complex (double real, double imag) ;
double real (complex 2) ;
double imag (complex 2) ;
double conj (complex 2) ;
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#include <conio.h>
#include <stdio.h>
#include <complex.h>
int main(void)

{
double x = 3.1,y = 4.2;
clrscr();
complex z = complex(x,y);
cout<< "z = " << z << "\n";
cout << " has real part = " << real(z) << "\n%
cout << " and imaginary real part = " << imag(z) << "\n"
cout << "z has complex conjugate = " << conj(z) << "\n%
getch();
return O;
}

ceil() nG
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double ceil (double num)
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printf ("%f",ceil(9.9)) ;

cos() b
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double cos (double arg)
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#include <conio.h>
#include <stdio.h>
#include <math.h>
int main(} {
double val = -1.0;
clrscr();
do {
printf("cosine of %f is %fn", val, cos(val));
val += 0.1;
} while(val <= 1.0);
getch();
return O;

}

cosh() G
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double cosh (double arg)
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#include <conio.h>
#include <stdio.h>
#include <math.h>
void main() {
double val = -1.0;
clrscr();
do {
printf("hyperbolic cosine of %f is %f\n" , val, cosh(val));
val += 0.1;
} while(val <= 1.0);
getch();
}
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exp() b
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double exp (double arg)

l printf (*value of e to the first : %f", exp (1.01) ;

fabs() aU
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double fabs (double num)
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#include <conio.h>
#include <stdio.h>
#include <math.h>
void main()

{

clrscr();
printf("%1.1f %1.1f", fabs(1.0), fabs(-1.0));
getch();

}

floor() bt
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double floor (double num)
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l printf ("%f", floor (10.9)) ;

fmod() xU
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double fmod (double x , double y)
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#include <conio.h>

#include <stdio.h>

#include <math.h>

void main()

{
clrscr();
printf(*%1.1f", fmod(10.0, 3.0));
getch();

}

frexp() aU
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double frexp (double num , Int *exp)
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#include <conio.h>
#include <stdio.h>
#include <math.h>
void main()
{
int e;
double f;
clrser();
f = frexp(10.0, &e);
printf("%.3f %d", f, e);
getch();
}
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double ldexp (double num , int exp)
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#include <conio.h>
#include <stdio.h>
#include <math.h>
void main()
{
clrscr();
printf("%.3f", Idexp(1, 2));
getch();

hypot() U
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double hypot (double x , double y)
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printf ("%f" , hypot (2,1)) ;
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log() xU
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double log (double num)
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#include <conio.h>
#include <stdio.h>
#include <math.h>
void main()
{
double val = 1.0;
clrscr();
do {
printf("%.3f %.3f\n", val, log(val));
val ++;
} while (val < 11.0);
getch();

log10() U
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double log10 (double num)
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#include <conio.h>
#include <stdio.h>
#include <math.h>
void main()
{
double val = 1.0;
clrscr();
do {
printf("%.3f %.3f\n", val, log10(val));
val++;
} while (val < 11.0);
getch();

modf() U
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double modf (double num , int *i)
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#include <conio.h>
#include <stdio.h>
#include <math.h>
int main(void)

{
double fraction, integer;
double number = 100000.567;
clrser();
fraction = modf(number, &integer);
printf("The whole and fractional parts of %lf are %lf and %If\n",
number, integer, fraction);
getch();
return O;
}

poly() U
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doublé poly (double x , int n, double ¢ [])
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c[3Ix + c[2]x + c[1]x + c[0]
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#include <conio.h>
#include <stdio.h>
#include <math.h>
void main() {
double c[3];
clrscr();
c[0] = 3;
c[1] = 2;
cl2] = 1; :
printf("%f", poly(1, 2, c));
getch();
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double pow (double base , double exp)
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#include <conio.h>
#include <stdio.h>
#include <math.h>
void main() {
double x=10.0, y=0.0;
clrscr();
do {
printf("%.2f", pow(x, y));
y ++
} while(y < 11);
getch();
}

sin() a6
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double sin (double arg)
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#include <conio.h>
#include <stdio.h>
#include <math.h>
void main() {
double val = -1.0;
clrscr();
do {
printf("sine of %.2f is %.2f\n" , val, sin(val));
val += 0.1;
} while(val <= 1.0);
getch();
}
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double sinh (double arg)

-1A Jio @D

..\LSJ‘._«JL’:J"/\ QSJ’ngL_rb\ G-y ﬁéw&cjﬁmbwjé.d(Sd‘MUﬂ

#include <conio.h>
#include <stdio.h>
#include <math.h>
void main()
{
double val = -1.0;
clrser();
do {
printf(*hyperbolic sine of %f is %f\n" , val, sinh(val));
val += 0.1;
} while(val <= 1.0);
getch();
}

sqrt() at
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double sqrt (double num)
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printf ("%f',sqrt(16.0)) ;

tan() G
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double tan (double arg)
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#include <conio.h>
#include <stdio.h>
#include <math.h>
void main()
{
double val = -1.0;
clrscr();
do {
printf("tangent of %.2f is %.2f\n", val, tan(val));
val += 0.1;
} while(val <= 1.0);
getch();
}
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double tanh (double arg)
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#include <conio.h>

#include <stdio.h>

#include <math.n>

void main()

{

double val = -1.0;

clrscr();

do {
printf("HYPerbolic tangent of %f is %f\n" , val, tanh(val));
val += 0.1;

} while{val <= 1.0);

getch();

}
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int isalnum (int ch)
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#include <conio.h>
#include <stdio.h>
#include <ctype.h>
#include <math.h>
void main()
{
char ch;
clrscr();
for(;;) {
ch = getchar();
if(ch =='") break;
if(isalnum(ch))
printf("%c is alphanumeric\n®, ch);
}
getch();
}

isalpha() aU
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int Isalpha (int ch)
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#include <conio.h>
#include <stdio.h>
#include <ctype.h>
#include <math.h>
void main()
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{
char ch;
clrser();
for(;) {
ch = getchar();
if(ch =="") break;
if(isalpha(ch))
printf("%c is letter\n", ch);
}
getch();
}

isascii() G
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int isascii (int ch)
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#include <conio.h>
#include <stdio.h>
#include <ctype.h>
#include <math.h>
void main()
{
char ch;
clrscr();
for(;;) {
ch = getchar();
if(ch=="") break;
if(isascii(ch))
printf("%c is ASCIl defined\n', chy);
}
getch();
}
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iscntrl() aU
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int iscntrl (int ch)
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#include <conio.h>
#include <stdio.h>
#include <ctype.h>
#include <math.h>

void main()
{
char ch;
clrser();
for(;;) {
ch = getchar();
ifch == ') break:
if(iscntri(ch))
printf("%c is a control character\n”, ch);
}
getch();

}
isdigit() &b
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int isdigit (int ch)
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#include <conio.h>
#include <stdio.h>
#include <ctype.h>
#include <math.h>
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void main()
{
char ch;
clrscr();
for(;;) {
ch = getchar();
iflch == ') break;
if(isdigit(ch)) printf('%c is a digit\n", ch);
}
clrscr();

}

isgraph() &t
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int isgraph (int ch)
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#include <conio.h>
#include <stdio.h>
#include <ctype.h>
#include <math.h>
void main()
{
char ch;
clrscr();
for(;;) {
ch = getchar();
if( ch=="") break;
if(isgraph(ch)) printf("%c is a printing character\n", ch);
}
}

islower() aU
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int islower (int ch)
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#include <conio.h>
#include <stdio.h>
#include <ctype.h>
#include <math.h>
void main()
{
char ch;
clrscr();
for(;;) {
ch = getchar();
ifch == ' ') break;
if(islower(ch)) printf("%c is lowercase\n", ch);
}
}

isprint() zu
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int isprint (Int ch)
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#include <conio.h>
#include <stdio.h>
#include <ctype.h>
#include <math.h>
void main()
{

char ch;

clrscr();
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for(;;) {
ch = getchar(); |
ifch=="") break;
if(isprint(ch)) printf(*%c is printable\n", ch);
}
}

ispunct() aU
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int Ispunct (int ch)
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#include <conio.h>
#include <stdio.h>
#include <ctype.h>
#include <math.h>
void main()
{
char ch;
clrser();
for(;;) {
ch = getchar();
ifch=="") break;
if(ispunct(ch)) printf("%c is punctuation”, ch);
}
}

isspace() aU
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int isspace (int ch)
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#include <conio.h>
#include <stdio.h>
#include <ctype.h>
#include <math.h>
void main()
{
char ch;
clrscr();
for(;;) {
ch = getch();
if(ch==";") break;
if(isspace(ch)) printf('%c is space\n", ch);
}
}

isupper() U
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int isupper (int ch)
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#include <conio.h>
#include <stdio.h>
#include <ctype.h>
#include <math.h>

void main()
{
char ch;
clrser();
for(;) {
ch = getchar();
if(ch=="") break;
if(isupper(ch)) printf("%c is uppercase\n", ch);
}

}
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isxdigit() xb
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int isxdigit (int ch)
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#include <conio.h>
#include <stdio.h>
#include <ctype.h>
#include <math.h>
void main() {
char ch;
clrscr();
for(;;) {
ch = getchar();
if(ch=="") break;
if(isxdigit(ch)) printf("%c is hexadecimal\n®, ch);
}
}

tolower() &t
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int tolower (int ch)
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putchar (tolower ('QY)) ;

toupper() aU
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int toupper (int ch)
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putchar (toupper (‘a’)) ;
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#include <conio.h>
#include <stdio.h>
#include <string.h>
void main()
{
void *p;
clrser();
p = memchr(this is a test’, 'a’, 14);
printf((char *) p);
getch();

memcmp() oG
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int memecmp (const void *buff, const void *buf2, unsigned count)
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#include <conio.h>

#include <stdio.h>

#include <string.h>

void main(int argc, char *argv[])

{
int outcome, len, 11, 12;
clrser();
/* find the length of shortest */
len = (11 = strlen(argv[1])) < (12 = strien(argv[2])) ? 11:12;
outcome = memcmp(argv[1], argv[2], len);
if(loutcome) printf("equal');
else if(outcome < 0) printf("first less than second");
else printf(‘first greater than second");
getchy();

b7, memcpy() aL
:c...,:\ﬂ)‘c))_,.pqdl:ah;ﬂl..xswd:SJ{J_:qlﬂﬁbu_\j;iu'lu;.._jmcmcpy() &b

void *memcpy (void *to, const void *from, unsigned count)
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#include <conio.h>

#include <stdio.h>

#include <string.h>

#define SIZE 51

void main() {
char buft[SIZE], buf2[SIZE];
clrser();
strepy(buf1, *when, in the course of ...");
memcpy(buf2, buf1, SIZE);
printf(buf2);
getch();

memmove() G
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void *memmove(void *to, const void *from, unsigned count)
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#include <conio.h>
#include <stdio.h>
#include <string.h>
#define SIZE 50
void main() {
char str1[SIZE], str2[SIZE];
clrser();
strepy(str1, "when, in the course of ...");
memmove(str2, str1, SIZE);
printf(str2);
getch();
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void *memset (void *buf, int ch, unsigned count)
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#include <conio.h>
#include <stdio.h>
#include <string.h>
#define SIZE 50
void main()
{
char buf[SIZE];
clrscr();
memset(buf,\0’, 49);
memset(buf,’x’, 10);
printf(buf);
getch();

strcspn() oG
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int strcspn (const char *st1, const char str2)
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#include <conio.h>
#include <stdio.h>
#include <string.h>
void main()
{
char s[80];
clrser();
strepy(s, "THIS IS A TEST");
printf("%d", strespn(s, "IS");
getch();

strerror() FY
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char *strerror (char *str)
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swap ()
{
if (error) printf (strerror (“error in swap")) ;
}
striwr() U

Fel 256
char *strlwr (char *str)
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#include <conio.h>

#include <stdio.h>

#include <string.h>
void main()

{
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char s{50};

clrscr();

strepy(s, "THIS IS A TESTY);
striwr(s);

printf(s);

getch();

strncat() aG
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char *strncat (char *str1, const char *str2, unsigned int count)
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#include <conio.h>
#include <stdio.h>
#include <string.h>
void main()
{
char s1[80], s2[80];
unsigned int len;
clrscr();
printf("enter string1:");
gets(s1);
printf("enter string2:");
gets(s2);
len = 79 - strlen(s2);
strncat(s2, s1, len);
printf(s2);
getch();

strncmp() &b
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int strncmp (const char *st1, const char *st2, unsigned count)
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#include <conio.h>
#include <stdio.h>
#include <string.h>
void main(int argc, char *argv(])
{
clrscr();
if(!strncmp(argv[1], argv[2], 8))
printf("the file names are same");
getch();
}

strmcpy() &G
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char *strncpy(char *str1, const char *str2, unsigned count)
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#include <conio.h>
#include <stdio.h>
#include <string.h>
void main()
{
char str1[50], str2[50];
clrscr();
gets(str1);
strncpy(str2, str1, 7);
puts(str2);
getch();

strmset() aU
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char *strnset (char *str, char ch, signed count)
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char *strpbrk (const char *str1, const char *str2)
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#include <stdio.h>
#include <string.h>
#include <conio.h>
int main(void)
{
char *string1
char *string2

"abcdefghijkimnopgrstuvwxyz";
Ilonmll;
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char *ptr;
clrscr();
ptr = strpbrk(string1, string2);
if (ptr)
printf(*strpbrk found first character: %c\n", *ptr);
else
printf("strpbrk didn't find character in set\n");
getch();
return O,

strrchr() G
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char *strrchr (const char *str, int ch)
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#include <stdio.h>
#include <string.h>
#include <conio.h>
int main(void)
{
char string[15];
char *ptr, ¢ = 'r’;
clrscr();
strepy(string, "This is a string");
ptr = strrchr(string, c);
if (ptr)
printf(‘The character %c is at position: %d\n", ¢, ptr-string);
else
printf("The character was not found\n');
getch();
return O;

strspn() aUG
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unsigned strspn (const char *str1, const char *str2)
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#include <stdio.h>
#include <string.h>
#include <conio.h>
void main(}
{
int len;
clrscr();
len = strspn(‘this is a test", “siht");
printf("%d", len);
getch();
}

strrev() aG
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#include <stdio.h>
#include <string.h>
#include <conio.h>
void main()
{
char s[] = "hello";
clrscr();
strrev(s);
printf(s);
getchy();
}

strset() oG
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char *strset (char *str, char ch)
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strset (str,'x’) ;

strtok() ab
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char *strtok (char *str1, const char *str2)

ok Tkor 45 ol glazs SHI2 L gt Mo L OF 53 5 4 ge (SLALLES &S ol (glaz jstrl o3 45 5,5 s
&L Gl Lledd Mom oa 51 e 2SS 4o L el S S o asiilin ony (LS 0 pasila | (delimiters)
e Al Lt ) & 525 1 2

-fY Ju. @
lor o i (blank) It slias 5 WISL O 5 3 g yo SALES 45 0 Gy a3 SHE Jauw 5 (gl 5 05 4l 5o
(Whedd Lasuiastr2 aw g SIS 55 0pl) Wledd
#include <stdio.h>
#include <string.h>
#include <conio.h>
void main()
{
char *p;
clrscr();
p = strtok(“the summer soldier, the sunshine patriot"," );
printf(p);
do {
p = strtok(\0",", ");
if(p) printf(*| %s",p);
} while(p);
getch();
}
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char *struper (char *str)
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#include <string.h>
#include <conio.h>
#include <stlib.h>
void main()
{
char s[80];
clrser();
strepy(s,"this is a test");
strupr(s);
printf(s);
getch();
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void *calloc (unsigned num, unsigned size)
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#include <string.h>
#include <conio.h>
#include <stdlib.h>
#include <stdio.h>
void main() {
float *p;
clrscr();
p = (float *) calloc(100, sizeof(float));
if(p) {
printf("allocation failure - aborting");
exit(1);
}
}

malloc() &t
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void *malloc (unsigned size)

b g5 3 42 g At s S S ol a5 S (iSOl e 3l Sl alloch Ju 5 &5 onl s
JJ.!.L.‘«L, OO)UQS;AJu‘w|;| )é&)‘}}b)“‘&i.)éMbw))i.)b;@‘}da_:.ﬁsizeQLI;JT

1-00 Jis @
.»AUJM‘)MB-)‘C,.:L:\° AS‘S‘MUJ.!
#include <string.h>
#include <conio.h>
#include <stdlib.h>
#include <stdio.h>
int main(void) {
char *str;
clrscr();
/* allocate memory for string */
str = (char *) malloc(sizeof(char) * 10);
if (Istr) {
printf("Not enough memory to allocate buffer\n");
getch();
exit(1);
}
strepy(str, "Hello");
printf("String is %s\n", str);
getch();
return O;
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*realloc (void *ptr, unsigned size)
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free() U
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void free (vold *)
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#include <string.h>
#include <conio.h>
#include <stdlib.h>
#include <stdio.h>
void main()

{

char *p;

clrscr();

p = (char *) malloc(sizeof(char) * 17);

if(tp){
printf(*allocation error - aborting");
getch();
exit(1);

}

strcpy(p, "this is 16 chars");




p = (char *) realloc(p, 18);

if(tp) {
printf("aliocation error - aborting");
getch();
exit(1);

}
strcat(p, ".");

printf(p);
free(p);
getch();
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mkdir() aU

int mkdir (char *path)
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#include <conio.h>
#include <stdio.h>
#include <dir.h>
void main()
{
clrscr();
if(! mkdir("dos"))
printf(*directory created.”) ;
else
printf("directory not created.") ;
getch();
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chdir() aU
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int chdir (char *path)
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#include <conio.h>
#include <stdio.h>
#include <dir.h>
void main() {
clrser();
if(lchdir("c:\\wp\\dos"))
printf("done.");
else
printf("not done.");
getch();
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int rmdir (char *path)
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#include <conio.h>
#include <stdio.h>
#include <dir.h>
main() {
clrscr();
if(! rmdir("DOS"))
printf(" 'DOS’ directory removed") ;
else
printf(" 'DOS’ directory not removed") ;
getch();
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int findfirst (char *fname, struct ffblk *p, int sttrib)
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struct ffblk {

char ff-reserved [2] ; (cuwlouls 953 DOS tawei)
char ff-attrib ; (WS o0 yakides 1) Jo b Cudo)
int ff-ftime ; (WS g0 oo ) ol ol S5 B8 a5 Jloj)
int ff-fdate ; (IS g yasino ol 0 JaSdd Sy 16 aSTy 50 )
long fi-fsite ; (WS g0 iy b U gl (B pao alidls 4yl5u)
char ff-name [13] ; (WS g0 st Iy LU oU)
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(Read only) g dad L, FA_RDONLY
(Hidden) she b FA_HIDDEN
(System) s £33 it FA_SYSTEM
(Volume label) a2 FA_LABEL
(Subdirectory) o i 5 FA_DIREC
(Archive bit set) asl Y (ol gt T ey FA_ARCH
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int findnext (struct fiblk *ptr) ;
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#include <conio.h>
#include <stdio.h>
#include <dir.h>
void main()
{
struct ffblk £ ;
register int done ;
clrscr();
done = findfirst("*.cpp", &f, 0} ;
while(!done){
printf("\n%s,%Id", f.ff_name, f.ff_fsize) ;
done = findnext(&f) ;
}
getch();
}

getcurdir() U
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int getcurdir(int drive, char *directory)
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#include <conio.h>
#include <dir.h>
#include <stdio.h>
void main()
{
char dirfMAXDIR];
clrscr();
getcurdir(0, dir);
printf("current dirextory is:%s", dir);
getch();

getdisk() xG
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int getdisk (void)
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#include <stdio.h>
#include <dir.h>
#include <conio.h>
" void main ()
{
clrser();
printf("\n current drive is: %c ", getdisk() + 'A’) ;
getch();
}

mktemp() »G
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char *mktemp (char *fname)
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#include <stdio.h>
#include <dir.h>
#include <conio.h>

char fname[7]="XXXXXX" ;

void main ()

{
clrscr();
printf("%s", mktemp(fname)) ;
getch();

}

searchpath() &G
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char *searchpath (char *fname)
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#include <stdio.h> v
#include <dir.h>
#include <conio.h>

void main ()

{
clrser();
printf("\n the path is:%s", searchpath("edit.com")) ;
getch(); )

}

setdisk() aU
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int setdisk (int drive)
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#include <stdio.h>
#include <dir.h>
#include <conio.h>
void main()
{

clrscr();

printf("\n %d drives", setdisk(0));

getch();
}
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void  gstore (char *q)

if (spos == MAX) {
printf (\n list is full.") ;
getch () ; -
return ;

}
P [spos] = q;
spos ++ ;

}

Zb_,.:- 4:..::,.' B8 CJ)F 4 .b'}';v.n qretrive() cu
char *qretrive ()

{
it (rpos == spos) {
printf ("\n the list is empty.") ;
getch () ;
return NULL ;

}
rpos ++ ;
return p[rpos-1] ;

}
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#include <stdlib.h> o Jobo ormai gl 06 | MAX oy
#include <stdio.h> MAX Jsb s jiw | p
#include <string.h> e gzl | spos
#include <ctype.h> o slezit | rpos
#include <conio.h> N obatan ;5 el gl |8 main()
#define MAX 100 LSS dil> wnil |t
char *p[MAX] ; 3,0 p0 il pliaS glazs, | § enter()
int spos, rpos ; A8 e lilS ayas o Fo sl | p
void enter(void) ; LSS adls Geuit |t review()
void gstore(char *) ; 39 g0 B> s 1S g paie | P dispose()

void review(void) ;
void dispose(volid) ;
char *qretrive() ;
int main ()
{
char s[8] ;
register int t ;
for (t = 0; t < MAX; ++t)
pt] = NULL ;
spos = 0 ;
rpos= 0 ;
while (1) {
clrscr() ;
gotoxy(20, 4) ;
printf(* E)enter name to queue ");
gotoxy(20, 6) ;
printf(" R)remove name from queue");
gotoxy(20, 8) ;
printf(* L)list the queue " ;
gotoxy(20, 10) ;
printf(* Q)quit from program ) ;
gotoxy(20, 12) ;
printf(*enter your select");
printf("( E R L Q):";
gets(s) ;
*s = toupper(*s) ;
switch (*s) {
case 'E’': enter() ; break ;
case ‘L' : review(); getch() ; break :
case 'R': dispose() ; break :
case 'Q’' : exit(0) ;
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}//end of switch
}
}

”*****************

void enter ()
{
char s[256], *p ;
do {
printf("\nenter a name");
printf("(ENTER for none):") ; )
gets(s) ; :
if (*s == 0)
break;
p =(char *) malloc(strlen(s)) ;
it ('p) {
printf(\n out of memory, press a key. ');
getch();
return ;
} /fend of if
strepy(p, S) |
if (*s)
gstore(p) ;
} while(*s) ;
}

”*****************

vold review ()
{
register int t ;
for {t = rpos; t < spos; t++)
printf("\n\t%d . %s *, t+1, p[t]);
}

”******************************

void dispose ()
{
char *p ;
if ({(p=qgretrive(}))
return ;
printf("\n %s",p) ;
}

”******************************

void gstore (char *q)
{
if (spos == MAX)

o
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{
printf("\n list is full.") ;
getch() ;
return ;

}

plspos]=q ;

Spos ++ ;

}

//******************************

char *qretrive ()

{

if (rpos == spos)

{
printf(\n the list is empty .*);
ch=getch() ;
return NULL ;

}

rpos ++ ;

return pirpos-1] ;

}
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